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Instruction :-

1. Attempt all the questions.

2. Q. No. 1 is of objective type which carries 1 marks each.
3. Q. No. 2 to 5 carries 2 marks each, which are to be answered in 5 to 6
sentences.
4. Q.No. 6 to 10 carries 5 marks each, which are to be answered in 2 to 3
sentences.
Ques 1:-(a) Choose the correct alternative- (1)

(i) The name of the writer of 'Prankster of the sea' is-

(a) R.K.Narayan (b) Jack Denton Scott
(¢)  Suresh Vaidya (d) Richard Gordon
(ii) The Character 'Harman' belongs to the lesson - 1)

(a)  Out of Bussiness
(b) Among the head hunters
(¢)  The night the ghost got in

(d) How a client was saved.

(iii) Which forest is mentioned in the lesson ' Among the head hunters' (1)

(a) Kaliranga forest (b)  Sunderban forest
(¢) Gir forest (d) Borneo forest
(iv) The word for 'remove' to get rid of is (1)
(a) Eliminate (b) Prevent
(¢)  Sublimate (d) Disintigrate
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Ques 1:-(b)

(1)

(i)

(iii)
(iv)

)

The discoverer of malaria parasite is -

(a) Alexander Heming (b) Ronald Ross
(¢) J.B. Pristly (d) Marie Curie
Fill in the blanks with the words given below- [1X5=5]

(elucidates, characteristic, interfere, involves, magnitude)

He decided not to marry for three more years because he is afraid marriage

will with his research work.

Cloudy sky, strong winds, beary rains are the of
mansoon weather.

His new job as Inspector of police a lot of touring.

Bertrand Russels is known as popular philosopher because he

his ideas with examples from everyday life.

Crimes of such were never committed as during the

second world war.

Answer the following question (Q.2 to Q.6) in about 2-3 lines each.

Ques 2:-
Ques 3:-
Ques 4:-

Ques 5:-

What is wonder thirst ? Explain 2)
Why does the poet want to escape from human suffering ? 2)
'Silver featherd sleep' Explain 2)
What are the narrow domestic walls according to R.N. Jagore ? 2)

Answer the following questions (Q.7 to Q.10) in about 5-6 sentences each.

Ques 6:-

Ques 7:-

virendra

How were our present continents formed ? 5

OR
What made RamaRao belive that God had shown him mercy ?

How do porpoises fight and kill sharks ? )
OR

How does a malarial paralite enter a man's blood ?



Ques 8:-

Ques 9:-

Ques 10:-

Ques 11:-

Ques 12:-

Ques 13:-
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(1)

(i)

(iii)

(iv)

)

What sort of prisoners used to be sent to the Andamans ? 5)

OR

Describe a Tagin Village.

Why did Grimsdyke become discontented with this life ? 5)
OR

Why was Thurber's mother unable to use phone in her own house ?

Why did Rustomji loose as well as partly save by the settlement of the
case ? 5)
OR

Why was Jugah not frightened of the air craft.
Give the meaning of the following words :- (any 5) (1x5=5)

Splash, tinkle, peer, gaze, creak, glare, tramp, cronic, senoir, scribbing.

Add any of these prefixes (un, dis, in, mis or im) to form new words opposite
in meaning. (any five)

use, expensive, tidy, graceful, suitable, fortunate, behave, proper, credible,

successful.

Do as directed. (1x5=5)

This is university.

(Insert proper article)

There isn't student in the class.

(use suitable determiner)

You to obey your elders.

(Insert proper modal)

Distribute the sweets the students.

(Insert suitable preposition)

This is the book I lost.

( use suitable relative pronoun)




OR

Do as directed.

(i)  Sheis M.L.A.

(Insert proper article)

(ii) Thereisn't water in the tank.

(Use suitable determiner)

(iii) He live in town when he was employed.

(Insert proper model)

(iv) He died his country.

(Insert suitable preposition)

(v) Isawaman head was bald.

(Use suitable relative pronoun)

Ques 14:- Do as directed. (1x5=5)

(i) The Tajmahal is the most beautiful building in India.

(Change into comparative degree)

(ii) Ishould do my home work today .

(Change into interrogative sentence)

(iii) The traveller said to the man, '""Which is the nearest way to the
station?"

(Change the narration)

(iv) 1 was going to the cinema.

(Change into past perfect tense)

(v)  The boy is wearing a red shirt. The boy is my brother.

(Combine the two sentences to form a complex sentence)
OR
Do as directed.

(i) Ram is more Intelligent than any other boy of the class.
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(i)

(iii)

(iv)

)

Ques 15:-

virendra

(i)
(ii)
(iii)

(iv)

)

(1)

(i)

(Change into Superlative degree)

They are very hard working people.

(Change into interrogative)

The Teacher said to the student, "Why are you late ?"

(Change the narration)

They had gone on a tour.

(Change into past continouus tense)

My sister live in Delhi.
She is a great singer.

(Combine these sentences to form a complex sentence)

Do as directed.

Avoid too fast. (use gerund)

I haven't any money in my pocket. (Add question tag)

Did he go to school?

(Change into Affirmative sentence)

He worked very hard .
He succeeded in the examination.

(Combine the two sentences using Averbial clause of result)

A dog that barks seldom bites.

(Rewrite the sentence using present participle)
OR

Do as directed.

I do my work

(Change into passive voice)

To hurt others is not good.

(Rewrite using introductory 'It'")

(1x5=5)



(iii)

(iv)

\)

Ques 16:-

virendra

He is leaving for Mumbai.

(Provide question tag.)

Unless you work hard, you cannot get success.

(Rewrite using 'if ' in place of 'unless’)

I love movies.

(Use 'watch' as gerund)

Read the following passage and answer the question given below
(1x8=8)
Swami vivekanand repeated the passionate advocacy of social
reform with a more nationalist timbre when he declared that the highest
form of service of the great mother was social service, Other great indians,
chief of whom was Mahatma Gandhi, developed the theme of social service
as a religious duty, and the development continues under Gandhi's
successors. Mahatma Gandhi was looked on by many, Indians and
Europeans, as the epitome of Hindu tradition, but this is a false judgement,
for he was much influenced by western Ideas. Gandhi believed in the
fundamentals of his ancient Culture, but his passionate love for the
underdogs and his antipathy to caste, though not unprecedented in ancient
India, were unorthodox in the extreme. His faith in non-violence was, as
we have seen, by no means typical of Hinduism. In his social context he
was always rather an innovator than a conservative Gandhi succeeded in
shifting the whole emphasis of Hindu thought towards a popular and
equilatorian social order, in place of the hierarchy of class and caste. Much
that was useless in ancient indian culture has already perished The
extravagant and barbarous hecatombs of the vedic age forgotten though

animal sacrifice continues in some sects

Question :-

Q.
Q.ii

What did Swami Vivekananda declare as the highest form of service ?

What did Mahatma Gandhi develop as a religious duty?
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Q.iii
Q.iv
Qv
Q.vi
Q.vii

What was Mahatma Gandhi looked as by both Indians and Europeans ?
Whom did Gandhi possionatels love?

Which barbarons hecatombs still continues in some sects ?

Was Gandhi an innovator or a conservative ?

Add prefix to the following words to make antonyms-

Orthodox, Violence

Q.viii Give a suitable title to the above paragraph.

OR

Read the following passage and answer the question :- (1x8=8)

The camel is the oldest of domestic animals. it has been used for
thousands of years by the desert people of Africa and Asia to supply many
of their needs on the fertile edges of the desert. Camples pull ploughs,
turn wheel to irrigate the filds and carry goods to market. In the desert
itself they are still almost the only means of transport. They supply food,
milk and clothing in the form of woll and leather.

This useful animal is well adapted to life is harsh, arid lands. The
Arabian camel has one humph, the Bactrian camel has 2 the humph is, in
fact a store of fat which is used as a source of energy when food and water
is scarce. When it does drink, the camel can take up to 100 liters of water
in 10 minutes.

The camel has broad, soft feet for a steady grip in the sand. A thick
skin protects it from the fierce day time sun and bitterly cold night. The
camel's eyes have three eyelids to help keepout sand, its ears and nose are
also adapted to keepout sand storm. Camels stand about 2 meters high at
the shoulder and weigh 500 -800 kilos. Often called '"the ship of the desert"
they can carry loads of 200 kilos and more travlling up to 160 km. per
day.

Camels eat grass, dates and grains when available. Deep in the
desert in the desert they survive on dry leaves and seeds.

Questions:-

What do camels eat ?



(ii)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

Ques 17:-

Ques 18:-

virendra

Which anumal is called the " ship of the desert" ?
How much weight can a camel carry ?

Where is fat stored in the camel ?

Give the opposites of :-

broad, soft

The only means of transport in deserts is

Find out the word from the passage that means.

Give a suitable title to the passage.

Insert suitable words to complete the story. “4)

Once upon a there lived a prince

Dushyant. He was very Once he went to forest on
There he met a girl, who was the of a saint. She was
Shakuntala.

She was very . Dushyant and Shakuntala fall

in and got secretly
OR

Write a story with a moral and suitable title from the outline given below:-

Three men find a bag of money agree to divide

all very hungry sent one to busy food

being greedy poisons the food the

other two greedy murder him eat
food both die.

Write a paragraph on any one of the following topics in about 100-150
words- “4)

(a) T.V.programme K.B.C

(b)  Scene of a fair.

(¢) Common wealth games 2010.



Ques 19:-

Ques 20:-
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You are Ramesh, Of X C, GMHS School Pendra. Write an application to
your principal requesting him to issue books from the book bank of your
school, as you cannot afford to buy it from the market.

OR
You are Amita, resident of 24, kailash Nagar, Bacheli (Dantewada). Write
a letter to your friend's father informing him about your friends injury

which happened during the cricket match.

Write a precis of the following passage and give a suitable title to it. (4)

At Shantiniketan or the Abode of peace , which
Rabindranath's father. DebendranathTagore established as a center for
meditation, Rabindranath founded a school which reminds us of forest
hermitages where teachers and pupils sought after and attained fulfillment
by wise thinking, righteous living and earnest faith. There no life should
be taken, no idol worshipped, and no irrelevent words spoken against any
people's worship or deity. Though Hinduism is the background of all the
activities in the school , the birthdays of the great prophets, The Buddha,
Christ, Muhammad, Nanaks, are celebrated Rabindranath loved India
because of her ideals. Though Indian in inspiration, Tagores works had
universal appeal India has been known all these centuries for her dignity
of soul, valour and piety, tolerance and hospitality.

OR

Write a orecis of the following passage and give a suitable title.

The spiders in our country are generally smaller in size, less
frightening to look at, and not so poisonous. Hence, we are not so much
scared of them. However, sppiders foound in Europe, Africa, America and
Austrailia scary in nature. Recently there was a news item that a German
llady, on finding a black sppider in her garage, ran out for dear life, fell
down, broke her wrist and sued the firm that was supposed to clean her
garage regularly. Her fear was not unfounded. There are nearly 38,000

speciesof spiders, out of which, the brown recluse and the black wondow



Ques 21:-
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(@)
(b)
(©)
(d)
(e)

are extremely poisonous and their bite could be fatal. A spider is an
arthropod similar to other insect, but it has eight legs (inspects have six
only). A spider has eight eyes, two primery and six secooundry. Further ,
they have no antennae. OQut of the various species, tarantula is the scariest,
being very large and hairy. Spiders have two jaws in the mouth which end
up as fangs. When they bite, they inject venom through their fangs. Usually,
most of the spiders do not bite humans. Even if they do bite, the venom

would not affect us seriously except if bitten by a few species.

Write an essay in about 250 words on any one of the following topics. (4)

Newspaper

A journey by train
My ambition in life
Co-education

What ever happens, happens for good.

--00--
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High School Certificate Examination
A9 I
SAMPLE PAPER
fa¥g :— (Subject) - GENERAL ENGLISH (30t AT Y)
HHY 3 YUucl (Time- 3 Hrs)
BT :— (Class) - 1091 quii 100 (M.M.)

Instruction :-
1. Attempt all the questions.
2. Q. No. 01 is of objective type carries 01 marks each.

Ques 1:-(a)Choose the correct answer [1x5=5]

(i) Who burnt all the letters.
(a) AdhamKhan (b) Akbar
(¢) Bairam Khan (d) Munir Khan

(ii) The drug was tested on
(a) Rabbit (b) Mouse
(¢) Dog (d) Pig

(iii) Uberto was the son of

(a) Farmer (b) Merchant
(¢) Mechanic (d) shepherd
(iv) tortoises took part in the race.
(a) two (b) three
(¢) four (d) five

(v) Who composed the poem 'Upagupta’.
(a) Robert frost (b) Ravindranath Tagore
(¢) Oliver Goldsmith (d) J.R. Lowell.

Ques 1:-(b) Match the following words with their correct meaning (any five)
[ 1X5=5]
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(1)
(i)

(iii)
(iv)

)

A B

dumb dark

precious gossip, hearsay

shield notable to speak

rumour valuable

murky protect the body in battle

Note:-Answer the following questions in two or three sentences each . [2x3=6]

Ques 2:-

Ques 3:-

Ques 4:-

What are the qualities of the fountain ?
When did Upagupta see the girl again ?

Why did Johny carry the bag of wheat ?

Note:-Answer the following questions in two or three sentences each [ 3x6=18]

Ques 5:- Under whose care did Akbar leave his state affair ?
Ques 6:- What did Alexander Fleming want to obtain from the mould ?
Ques 7:- How did young Adorno become a slave ?
Ques 8:- Why did Sohrab's opponent withdraw his challenge ?
Ques 9:- How did Miss Sullivan come to take interest in Hellen's education ?
Ques 10:- What is radio activity ?
Ques 11:-(A) write the appropriate opposite words of the following : [ 1x5=5]
(i) Hopeful
(ii) Careful
(iii) Immortal
(iv) Displease
(v)  Irregular
(B) Give one word for the following sentences : [ 1x5=5]

virendra

(i) A disease affecting the lungs.
(ii) One's son's wife.

(iii) The highest official who give decision in a court.



(iv) To speek before the public

(v)  Hair on the face below the mouth.

Ques 12:- Do as directed. (Any fifteen) [ 1x5=5]

(i) Ivan's father was very old.
He could not give any bad advice to his son.

(Use 'so---that' and rewrite the sentence)

(ii) Do you tell the truth daily ?

(change into affirmative sentence)

(iii) A teacher may be a man or a woman.

(make plural and re-write)

(iv) He s late by hour

(fill in the blank with correct article)

v) We help the handicapped.

(use correct 'modal')

(vi) We must keep to the left of the road.

(Re-write the sentence using 'have to go')

(vii) Marie Curie had learnt many languages.

(change the voice)

(viii)(a)Coffee is not harmful .
(b)Tea is not harmful.

Combine the pair of sentences using 'Neither-nor'
P g

(ix)(a) Prospero broke his magic wand.
(b)He burried his magic book.

(Re-write the pairs of sentences using 'Not only----- but also')

(x)(a) He worked very hard.
(b) Otherwise he would have failed.

(combine the pair of sentences using 'Had-would have')
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(xi) Raipur is bigger city than Durg.

(Re-write the sentence using positive degree of adjective)

(xii) May I have another cup of tea.

(Underline the determiner)

(xiii) Rustum saved his country many times.

(Re-write santence using 'Do' for imphasis)

(xiv) Sohrab collected an army.

(change in to interrogative)

(xv) Alexander fleming did very well at school in London.

(change in to negative)

(xvi) The wonder drug has helped to lessen a great deal of human suffering.

(change in to present indefinite tense.)

(xvii)(a)The state had a good and stable government.
(b)He was in power.

(combine the sentences using 'As long as')

Ques 13:- Translate into English (any five) [1x5=5]

. YT dEm 9 § godt & |

TBR U $d YR RN |

9 3ifts 89 & avgHar el 8 |

ARd A fReell d $Maed Wal &1 Ao fdar |
, W1 I Ao A | § 7
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AT g =9 & & |

~

~

~

N O O A WON -

Ques 14:-  Find the errors and correct them in given space. (1x5=5)
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Man is the social being
Nobody can lived alone
and produce everything to himself
or herself. Two person living
near each other is called neighbours




Ques 15:-

Ques 16:-

A N

Ques 17:-

Ques 18:-
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Complete the passage with the words given in the bracket :(1x5=5)

The old man asked his to bring a bundle of thin
sticks together. The sons carried out his order and
bought a bundle of the father asked
them to try their on the bundle turn by him.

(strength, sticks, dying, to tie, sons)
Write an essay in about 150 words on any one topic. 05)

An Ideal Student
Importance of trees
Your best pass time
Electricity in life

An Indian Festival

You are Mahendra Rajput the student of class X 'B' of government higher
secondary school Pendra, Bilaspur (C.G.) . Write an application to your

principal for seeking permission to see Rajyotsava in Raipur. (05)

OR

You are Harpreet Kaur, Write a letter to your friend inviting her to attend

your birthday party.

Read the passage carefully and answer any four questions given below.
(2x4=08)

King Bruce has been a famous king of Scotland in Europe. He was
a true patriots. He was very brave and courageous also. The ruler of
England was very jealous of him. He raised a large army and invaded
scotland. Unluckily Bruce suffered a defeat and he had to run for life so
the country of scotland came under the English rule.

King Bruce made six brave attempts to free his country from the
English yoke but all in vain. so he was disappointed. He ran to the forest
and hid himself in a cave. He was going to give up trying any more.

Suddenly the king's eyes fe 1l on a spider hanging from a thread. It



was trying to reach its cob-web. Every time it went up, it slipped down
but it went on trying again and again. It went on making effort after effort
non stop. Bruce counted nine brave attempts of the spider. Still it could
not reach the cob-web.

The king was sure that the insect would now leave attempting any
more. But he was in the wrong. Nine failures did not discourage the spider.
After taking a little rest it started its tenth attempt. Step by step it went
up. At first the king said," Silly Spider! why doesn't it leave the attempt?"

But the king was surprised to see that this time the spider was just
at the door step of its cob-web. The king thought surely I too, must try
again to win my throne. Bruce raised again an army and invaded his enemy

with such a force that he got a grand victory.

Question :

SR DD

Ques 19:-
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Give a suitable Tittle to the passage.

Who was Bruce ?

Who invaded scotland ?

How many attempts did Bruce make to free his country ?
Which incsect did inspire the king to win his throne ?
What did the king think ?

What were the qualities of the king ?

Read the passage carefully and answer any four questions given below.
[2x4=8]
Helen then joined a school in Cambridge Massachusetts in which
normal students studied. Miss sullivan had attended classes with her and
spell everything on her hands. In July 1897 Helen passed her examination
in Arithmatic, Latin Grammar and English Literature. From the school
at Cambridge, Helen went to Redcliffe college. Here she studied with
other normal students. Miss Sullivan spelt on her hands all that she had
to study. Helan took her first degree in four years like any other college
students. After that she also took degrees in various subjects. She learnt
Greek, Latin and French besides English. She loved Greek more than any

other language, and she described it as "violin of the human heart."
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Question : (Any four)

()
(ii)
(iii)
(iv)
™)

(vi)

(vii)

Why did Miss Sullivan attend the classes with Helen ?

What subjects did Helen study at the school in Cambridge ?

What subjects did Helan learn besides English ?

Which subject did she love more than any other subject ?

When did Helen pass her examination in Airthmatic and English
Literature?

How many years did Helen spend to take her first degree ?

What did Helen describe to Greek language ?




Set- B
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High School Certificate Examination
A9 I
SAMPLE PAPER
fa¥g :— (Subject) - GENERAL ENGLISH (30t AT Y)
HHY 3 YUucl (Time- 3 Hrs)
BT :— (Class) - 1091 quii 100 (M.M.)

Instructions:-
1. Attempt all the questions.
2. Q. No. 01 is of objective type carries 01 mark each.

Ques 1:-(A) Choose the correct alternatives and fill in the blanks : [1x5=5]
(i) The fountain has been described in different Kinds of
light.
(a) two (b) three
(¢) four (d) five

(ii) The fountain a very good poem composed by
(a) Robert forst (b) J.R. Lowell
(¢) Oliver Gold Smith (d) Words worth

(iii) Fleming sent a woman to collect mouldy things from the market.
People called this woman
(a) Mary (b)  Miss Sullivan
(¢) Mouldy Mary (d) Mouldy

(iv) wrote the tempest
(a)  Leo Tolstoy (b) O.Henry
(¢)  Shakespears (d) Jawahar lal Nehru

(v) A medical conference was held in Verona in Italy in the year.
(a) 1929 (b) 1939
(c) 1949 d 1959

virendra .m



(B)

Match the following words with their correct meanings. (1x5=5)

A B
remedy Method of cure
invader powerful
mighty to enter as an enemy
queue well being
welfare stand in line

Note:- Answer these questions in two or three sentences each.

Ques 2:- What did neighbours fear would happer to the Man ? 2)
Ques 3:- Where was Upagupta lay asleep ? 2)
Ques 4:- What is the central idea of the poem "Stopping By The Woods On A
Snowy Evening ? 2)
Ques 5:- What did Akbar do to save Bairam Khan from the people at the Durbar?
3
Ques 6:- In which medium did the mould grow the best ? Q)
Ques 7:- What did the merchants of Genoa do to carry on a prosperous trade
with foreign countries ? A3)
Ques 8:- What are the causes of suffering of the handicapped? A3)
Ques 9:- How did Rustum find out that Sohrab was his son ? A3)
Ques 10:- What was a terrible blow to Marie ? 3)
[VOCABULARY]
Ques 11:-(a) Give one word for. 2)
(i) Study of bacteria is called .....................
(ii)  One who can not walk
(b)  Give the verb form of the following words. (any two) 2)

virendra

Application , Decision, Connection



(©)

(d)

(e

Ques 12:-

N O O A WON -

Ques 13:-

virendra

4.(a)
(b)

Make the opposite of the following words using correct prefix: 2)
Mortal , Please

Make your own sentences using these words : 2)
Great, Cheap

Give the comparative degree of following adjectives. 2)

Dangerous, Beatiful

Translate into English. (any five) (1x5=5)

T HET AN A uedt ¥

TER U $d YR SR |

9 3iftrs 89 @ AavgHar e 8 |

ARd A fReell d $Maed Wal &1 Ao fdar |
T Y Ao H /A 8§ ?

U I8 wifd T W |

AT g =9 & & |

[GRAMMAR]

Do as directed. (any fifteen) (1x15=15)

Alexander fleming did very well at school in London.

(change into Negative)

Sohrab collected an army.

(change into Interrogative)

The wonder drug has helped to lessen a great deal of human suffering.

(change into present indefinite tense)

He was in power

The state had a good and stable government.

(combine the sentences using "As long as'")

Adham Khan found an opportunity to approach the Emperror.
(Add question Tag)



virendra

6. We help the handicapped.

(Use correct 'modal’)

7. He is late by hour.

(fill in the blank with correct article )

8. A teacher may be a man or a woman.

(make plural and rewrite)

0. Do you tell the truth daily ?

(change into affirmative)

10.(a) Ivan's father was very old.
(b) He could not give any bad advice to his son.

(use 'so----that' and rewrite the sentence)

11.(a) He worked very hard.
(b) Otherwise he would have failed.

(combine the pair of sentences using '""Had----- would have".)

12.(a) Prospero broke his magic wand.
(b) He burried his magic books.

(Rewrite the pair of sentences using '""Not only ----- but also")
p g y

13.(a) Coffee is not harmful.
(b) Tea is not harmful.

(combine the pair of sentences using '"Neither---- nor")

14. Marie had learnt many languages.

(change the voice)

15.  You must keep to the left of the road.

(Rewrite the sentence using ""have got to'")

16. Rustum saved his country many times.

(Rewrite the sentence using "Do" for emphasis)



17.

18.

Ques 14:-

Ques 15:-

Ques 16:-

1)
(2)
3)
4)
(3)

Ques 17:-

virendra

May I have another cup of tea ?

(Underline the determiner)

Raipur is bigger city than Durg.

(Rewrite the sentence using positive degree of adjective)

Find the errors and correct them in given space : (1x5=5)

Man is the social being

Nobody can lived alone

and produce every thing to himself

or herself. Two person living

near each other is called neighbours

Complete the errors and correct them in given space : (1x5=5)

(Strength, sticks, dying, to tie, sons)

The oldman asked his to bring a bundle of thin sticks

together. The sons carried out his order and bought a bundle of

The father asked them to try their on the bundle
turn by him.

Write an essay in about 150 words : (Any One) (5x1=5)

An Indian Festival
Electricity in life
Your best pass time
Importance of trees.
An Ideal Student

You are Mahendra Rajput the student of class X 'B' of government higher
secondry school Pendra, Bilaspur (C.G.) . Write an application to your

principal for seeking permission to see Rajyotsava in Raipur. 5)

OR
You are Harpreet Kaur, Write a letter to your friend inviting her to attend

your birthday party.



Ques 18:-

Read this passage carefully and answer any four questions given below.
(2x4=8)

King Bruce has been a famous king of Scotland in Europe. He was
a true patriots. He was very brave and courageous also. The ruler of
England was very jealous of him. He raised a large army and invaded
scotland. Unluckily Bruce suffered a defeat and he had to run for life so
the country of scotland came under the English rule.

King Bruce made six brave attempt to free his country from the
English yoke but all in vain. so he was disappointed. He ran to the forest
and hid himself in a cave. He was going to give up trying any more.

Suddenly the king's eyes fell on a spider hanging from a thread. It
was trying to reach its cob-web. Every time it went up, it slipped down
but it went on trying again and again. It went on making effort after effort
non stop. Bruce counted nine brave attempts of the spider. Still it could
not reach the cob-web.

The king was sure that the insect would now leave attempting any
more. But he was in the wrong. Nine failures did not discourage the spider.
After taking a little rest it started its tenth attempt. Step by step it went
up. At first the king said," Silly Spider why doesn't it leave the attempt ?"

But the king was surprised to see that this time the spider was just
at the door step of its cob-web. The king thought surely I too, must try
again to win my throne. Bruce raised again an army and invaded his enemy
with such a force that he got a grand victory.

Question :

NN RPN

Ques 19:-

virendra

Give a suitable Tittle to the passage.

Who was Bruce ?

How many attempts did Bruce make to free his country ?
Who invaded Scotland ?

Which insect did insire the king to win his throne ?
What did the king think ?

What were the qualities of the king ?

Read the passage carefully and answer the questions given below.
[2x4=8]
Helen then joined a school in Cambridge Massachusetts in which

normal students studied. Miss sullivan had attended classes with her and



virendra

spell everything on her hands. In July 1897 Helen passed her examination
in Arithmatic, Latin Grammer and English Literature. From the school
at Cambridge, Helen went to Redcliffe college. Here she studied with
other normal students. Miss Sullivan spelt on her hands all that she had
to study. Helen took her first degree in four years like any other college
students. After that she also took degrees in various subjects. She learnt
Greek , Latin and French besides English. She loved Greek more than
she loved any other language, and she described it as ''Voilin of the human

heart."

Question :

()
(ii)
(iii)
@iv)
™)

(vi)

(vii)

Why did Miss Sullivan attend the classes with Helan ?

What subjects did Helen study at the school in Combridge ?

What subjects did Helan learn besides English ?

What subjects did she like more than any other subject ?

When did Helen pass her examination in Airthmatic and English
Literature?

How many years did Helen spend to take her first degree ?

How did Helen describe to Greek language ?

X
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Instructions:-
1. Attempt all the questions.
2. Q. No. 01 is of objective type carries 01 mark each.
Que 1:-(A) Choose the correct answer.
(i) Who suspected the conduct of Bairam Khan ?
(a) Akbar (b) AdhamKhan
(¢)  Chief minister (d) Humayun
(ii) Alexander fleming published his findings-
(a 1929 (b) 1939
(¢) 1949 d 1959
(iii) The name of Adorno's party was.
(a)  People's party (b)  Congress party
(¢)  Nobles party (d) Women's Party
(iv)  Persia was the previous name of-
(a) India (b) Iraque
(¢) Iran (d) Japan
(v)  Marie curie was born in-

virendra

(a) England (b) Newzealand
(¢) Greenland (d) Poland

(1x5=5)



(B)

Match the column 'A' and column 'B' (05)
A B

(i) Peasant Spirit

(ii)  Ariel Helen Keller

(iii) The fountain Sammy

(iv) Modern miracle J.R. Lowell

(v)  Tortoise Ivan

Note:-Answer the questions in about two or three sentences each :-

Que 2:-

Que 3:-

Que 4:-

Que 5:-

Que 6:-

Que 7:-

Que 8:-

Que 9:-

Que 10:-

Que 11:-(A)

virendra

(B)

When Upagupta saw the girl lying near the wall what did he do ? 2)

Where does the auther halt his horse with the reference of '"Stopping By

TheWoods On A Snowy Evening'"'? 2)
What was the wonder that happened in the end of the poem "Elegy On The
Death Of A Mad Dog''? ?2)
What charges did Adham Khan bring against Bairam Khan ? 3)
Sohrab's mother told some secret to her son, what was that ? 3)
Give the definition of '""Mould". 3)
Who was Ariel ? How did he become Prospero's servant ? (1+2)
What advice did the old man give when he was dying ? 3)
How did Miss Sullivan teach Helen words ? 3)
[VOCABULARY]

Make noun from the following words using suffixes. (1x3=3)
Protect, Defend, Brave

Give one word for the following sentences. (1x3=3)

(i) Number of buses, ship, aircrafts etc.
(ii) A disease effecting the lungs.
(iii) Loss or destruction of a ship at sea.

©

Give correct antonyms of the following : (1x4=4)
(i) Forgive (ii) Imprison



(iii) Hatred (iv) Advance

Que 12:- Translate into English. (Any Five) (1x5=5)
1, T PeEm qed d ued § |
2, %R YE™ & WOGR WRE |
3, U s o9 H mawadar e ¥ |
4, 9RA 7 fieell § dMAded Wl &1 oA fHar |
5, 9T A9 Aol H WA § 7
6, SUdl J&f Wiy TR & |
7, 9 UMY 9 WM § |

Que 13:- Do as directed :- (Any Fifteen) (1x15=15)

virendra

(1) Adham Khan found an opportunity to approach the Emperor.
(Add question tag)

(2)(i) He was in power.
(ii) The state had a good and stable government.

(combine the sentences using 'As long as')

(3) The wonder drug has helped to lessen a great deal of human suffering .

(change into present indefinite tense)

(4) Alexander fleming did very well at school in London.

(change into Negative)

(5) Sohrab collected an army.

(change into interrogative)

(6) Ivan's father was very old.
He could not give any bad advice to his son.

(use "'so--- that'" and rewrite the sentence)

(7) Do you tell the truth daily ?

(change into affirmative)

(8) A teacher may be a man or a woman.



( make plural and rewrite)

(9) Heis late by hour.
(Fill in the blank with a correct 'Article')

(10) We help the handicapped.

(use correct "modal'")

(11) You must keep to the left on the road.

(Rewrite the sentence using '""have got to'')

(12) Marie Curie had learnt many languages.

(change the voice)

(13)(a)Coffee is not harmful.
(b)Tea is not harmful.

(combine the pair of sentences using ''Neither----- nor'")

(14)(a)Prospero broke his magic wand.
(b) He burried his magic books.

(Rewrite the pair of sentences using Not only----- but also'")

(15)(a)He worked very hard.
(b)Otherwise he would have failed.

(combine the pair of sentences using 'Had-would have')

(16) Raipur is bigger city than Durg.

(Re-write the sentence using positive degree of adjective)

(17) May I have another cup of tea ?

(Underline the determiner)

(18) Rustum saved his country many times.

(Re-write sentence using 'Do' for emphasis)

Ques 14:-  Find the errors and correct them in given space. 5)

virendra



Ques 15 :-

Ques 16 :-

A e

Ques 17 :-

Ques 18:-

virendra

Man is the social being

Nobody can lived alone

and produce everything to himself

or herself. Two person living

near each other is called neighbours

Complete the passage with the words given in the bracket : (05)

The old man asked his to bring a bundle of thin

sticks together. The sons carried out his order and
bought a bundle of the father asked
them to try their on the bundle turn by him.

(strength, sticks, dying, to tie, sons)
Write an essay in about 150 words on any one topic. &)

An Ideal Student
Importance of trees
Your best pass time
Electricity in life

An Indian Festival

You are Mahendra Rajput the student of class X 'B' of Government Higher

Secondry School Pendra, Bilaspur (C.G.) . Write an application to your

principal for seeking permission to see Rajyotsava in Raipur. &)
OR

You are Harpreet Kaur, Write a letter to your friend inviting her to attend

your birthday party.

Read this passage carefully and answer any four questions given below.
(2x4=18)

King Bruce has been a famous king of Scotland in Europe. He was
a true patriots. He was very brave and courageous also. The ruler of
England was very jealous of him. He raised a large army and invaded
scotland. Unluckily Bruce suffered a defeat and he had to run for life so

the country of scotland came under the English rule.



King Bruce made six brave attempts to free his country from the
English yoke but all in vain. so he was disappointed. He ran to the forest
and hid himself in a cave. He was going to give up trying any more.

Suddenly the king's eyes fell on a spider hanging from a thread. It
was trying to reach its cob-web. Every time it went up, it slipped down
but it went on trying again and again. It went on making effort after effort
non stop. Bruce counted nine brave attempts of the spider. Still it could
not reach the cob-web.

The king was sure that the insect would now leave attempting any
more. But he was in the wrong. Nine failures did not discourage the spider.
After taking a little rest it started its tenth attempt. Step by step it went
up. At first the king said, " Silly Spider! why doesn't it leave the attempt?"

But the king was surprised to see that this time the spider was just
at the door. Step of its cob-web. The king thought surely I too, must try
again to win my throne. Bruce raised again an army and invaded his enemy

with such a force that he got a grand victory.

Question :

AL A S

Ques 19:-

virendra

Who was Bruce ?

Who invaded scotland ?

What were the qualities of the king ?

How many attempts did Bruce make to free his country ?
Which insect did inspire the king to win his throne ?
What did the king think ?

Give a sitable title to the passage.

Read the passage carefully and answer the questions given below.
[2x4=8]
Helen then joined a school in Cambrige Massachusetts in which
normal students studied. Miss sullivan had attended classes with her and
spell everything on her hands. In July 1897 Helen passed her examination
in Arithmatic, Latin Grammer and English Literature. From the school
at Cambridge, Helen went to Redcliffe college. Here she studied with

other normal students. Miss Sullivan spelt on her hands all that she had



virendra

to study. Helen took her first degree in four years like any other college
students. After that she also took degrees in various subjects. She learned
Greek , Latin and French besides English. She loved Greek more than
she loved any other language, and she described it as "' Violin of the human

heart.

Question :

(1)
(ii)
(iii)
(iv)
™)

(vi)

(vii)

Why did Miss Sullivan attend the classes with Helen ?

What subjects did Helen study at the school in Combridge ?

What subjects did Helen learn besides English ?

Which subjects did she love more than any other language ?

When did Helen pass her examination in Airthmatic and English
Literature?

How many years did Helen spend to take her first degree ?

How did Helen describe to greek language ?
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Scheme of Question Paper

favg— 3g AM= qUifeb : 100
T : 3 ©C
URIET : BISEhRd
(@) Nurp SR & IFUR AH
(A) Weightage as per Educational objective:
|0 30 SEGLL 3® gfirera
= (Knowledge) 30 30%
2. qdiel  (Understanding) 55 55%
3. IIANT Td DI (Application & Skill) 15 15%
1T 100 100%
(3) SPRIR 3D B AF
HOH0 | SPIS BT W 3Pl W AERT 3P | -1 & Uy FAR
Jrefed 3iw
1. Prose 20 -
2, Poetry 20 -
3. Grammar 20 -
4, Translation 06 -
5. Letter 06 -
6. Unseen 08 -
7. Word Meaning 08 -
8. Essay 12 -
9.
10.
11.
12.

virendra




(@) Hfeg WR (Difficulty Level)

€0 0 SEGLL 3® gfrera
1. X1 (Easy) 35 35%

2. T (Average) 50 50%

3. Bfod (Difficult) 15 15%

T 100 100%

(@) yeua feum fAdwr ¢d fAweu diomm —

(Instruction's & Scheme of Option for Question Paper)

o IXITS U H (05) dgfddmedia wed Term (05) Raxd I @ Yfd /Ifad el
AT BT U2 &1 ST 8IR I8 Udd e | U HHAD 1 B8R |

o UIP UCH1, 2Td 33D B Ul H AT T | T 04 3 AT TEA
31 3! & TSR qAT STESTRIT el H fdaweq faar Srem 2 | fdaed
T I Pl W AT FHM I3 & i | 04 3 IT I/ AP bl &
U Ud 9T § U A @ |

o IEFHaA IR M SIRRIISANK| (2 3 /30 T3 (3 3ih /50 Ueq)

GESHNEK (4 3 /75 <3) (5 3ih /150 T)
CICISESNE (6 3 AT 3ffedH /250 )
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Blue Print of Question Paper

favg— 9q am= qUifeb : 100
I9Y : 3 ©e
U : BIS¥del
ShIS ShlS TPS W 3fhHaN g Easl
q.5. JTefed 3w SRR
13k |2 3h |3 3d |4 AH|5 3B 6 3H| 6 3id AT
ERsisl
IfTH
8 12
1 Prose 20 4 5 — — — 1 — | — 1+6
2 |Poetry 20 2 3 2 — — 1 — | — | 1+6
3 |Grammar 20 2 4 2 1 — — — | =1 1+7
4 |Translation 06 — — — — — 1 — | = 1
5 |Letter 06 — — — — — 1 — | — 1
6 |Unseen 08 — — — — — — 1| — 1
7 |Meaning 08 2 — — — — 1 | = =1 1+1
8 |Essay 12 — — — — — — =11 1
9
10
11
12
24+1
T 100 0 | 12 | 4 1 — 5 [ 11
/26
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e — T @ Ao
Scheme of Question Paper
fawar— 7o quties = 100
T : 3 ©C
ORIETT © 8IS ¥hd
(@) el SqRTE D IER A

(A) Weightage as per Educational objective:

|0 30 SEGLL 3® gfirera
= (Knowledge) 20 20%

2, rqarer (Understanding) 60 60%
3. IIANT Td DI (Application & Skill) 20 20%
T 50 100%

(§) SPEAR Idl BT A

HOH0 | SPIS BT M 3Pl W AERT 3P | -1 & Uy FAR
Jrefed siw

1. IS RIEE] 26 26

2 qriorfge ITford 08 08

3 frdene sarfafa 07 07

4 Srprorfafa 15 15

5 erfafa 10 10

6 SIEII 19 19

7 HARC 05 05

8 ARG D! 10 10

9

10.

11.

12.

virendra




(@) Hfeg WR (Difficulty Level)

|0 30 SEGLL 3® gfrera
1. X1 (Easy) 20 20%
2. I (Average) 60 60%
3. Bfod (Difficult) 20 20%
T 100 100%

(@) yeua feum fAdwr ¢d fAweu diomm —

(Instruction's & Scheme of Option for Question Paper)

o IXITS U H (05) dgfddmedia wed Term (05) Raxd I @ Yfd /Ifad el
1Y T G AT ST 3R I8 Ucdes AT H U9 HAld 1 BT |
o UIF AT H1, 2Td 3 3@ &yl H fA=ar & | TR 04 (F AT A
31 3! & TSR qAT STESTRIT el H fdaweq faar Srem 2 | fdaed
T I Pl W AT FHM I3 & i | 04 3 IT I/ AP bl &

U3 ISP Ic H Th G99 B |

® JM&had ITR Al SIRRIISANK|

AYSTNIY
Sefeedn

(6 3 AT 3ffedH /250 )

(2 3T /30 ¥Iex) (3 3 /50 Ix)

(4 3fh /75 9Ie3) (5 31h /150 )




U — U &l U<

Blue Print of Question Paper

faweg— wIfora quTieh : 100
Y ;3 HT
URIET : BIghel
FEaE] SIS SHIE W IHIR T Bl
5P JEfed 3ih PR
1 3|2 3|3 3fh|4 3H|5 3h|6 3H| 6 3D
a1 g
SIEEY
1 [drSrord 26 2 2 3 | — 1 1 — |7+
2 |arforsg wTfora 08 — | - 1 — 1 — — | o2
3 |FMcen®s safafa 07 1 1 =1 1] = - — | 02
4 |Brorofafy 15 2 1 1 2 - | - — | o4
5 |e=fafa 10 1 1 1 1 - | - — o3
6 |Sarfafa 19 2 1 — 1 1 1 — | o4
7 |FER 05 1 2 | = | =1 -1 - — | 02
8 |\iRegat 10 1 — | = | 1 1 — — |02
9
10
11
12
AT 100 (110) 8 | 6|6 | 4| 2| — |27

virendra




Set- A
TS o wfcfhae e

High School Certificate Examination
AT T3

SAMPLE PAPER
fowg — (Subject) - LING] (Mathematics) NHY 3 YUCT (Time- 3 Hrs)
HET — (Class) - A1 (X) quii 100 (M.M.)
(Instruction) — (fAcde)
1. 9 U & T SIfad © |

virendra

Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.

126



virendra

U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



Ue 1 (31) el fabed gfg -

(M)

(i)

(iii)

(iv)

v)

(A)
(1)

(i)

(iii)

(iv)

7,9, 21 BT IGATIRH 2|
(a) 27 (b) 21 (c) 18

120° &1 eI & A BN—

@ b % ©
g BT HIoT BT B

(a) 60° (b) 90° (c) 120°
8 T fE3maRy gomell § A9 81—

(a) 100 (b)1000 (c) 1010

U RIad DI IBTAT R MY I B YT sR—

(@) 1 ®» ¥ © %

Choose the correct answer -
Fourth proportional of 7, 9 and 21 is -
(a) 27 (b) 21 (c) 18

Value of 120° in radian is -

@ DA ©
Angle of semi circle is -

(a) 60° (b) 90° (c) 120°
Valur of 8 in Binary number is -

(a) 100 (b)1000 (c) 1010

(d) 36

(1)

@ 27
(1)
(d) 180°

(1)
(d) 1001

(1)

@ Y

() 36

@ 2%

(d) 180°

(d) 1001

128



v)

The probability of getting heads in a throw of a coin is -

(@)1 ® Y © % @ Y

(@) Raa Il @& g BITe—

(1)

(1)
(iif)
(iv)
)
(B)

(i1)
(iif)
(iv)
v)

YR 2.

YR 3.

virendra

2 3R 10 BT FAMR A oo BT |
AdE® (-2, b) o Tge # Rerd g8rm|
1H1an20 = oo BRI |

T B DRI BN AT ST

3, 4 Td 5 AH. o drel B B Pyt ®ed 2|

Fill in the Blanks -

Arithmetic means of 2 and 10 1S .....cccveeviieennnnne
Co-ordinate (—a, —b) lies on .................. quadrant.
Vlaue of 1 +tan2@ ooeeevveervveemeennne

Number of edges in cube 1S ......ccceevveeennnennee.

Triangle whose sides are 3 cm., 4 cm. and 5 cm. called ...............

x> +1 o x+1

x* -1 x+2

Dl I SITd DRI |

x*+1 x+1

21 and )

Find the sum of

X +7x=-12 P I TG BT |

Find the roots of x2 + 7y =12

triangle.



U3 4

YR 5.

931 6

T 7

93 8

YR 9.

92 10

virendra

cos51°

o300 T AT BHINY | )
Find the val fcosSl"

ind the value o sin39°
(—2,6) IR (3—6) & ¥ B T AT BHIY | )

Find the distance between (-2, 6) and (3, —6).

Tdh @q e fiSH & SMaR &1 9RATT 30 WAL 3R $HaTs 5 HHAL ©
dl BT qred I8 S BIfog 2 (2)

Find the lateral surface of prism whose height is 5 cm. and perimeter of

base 1s 30 cm.

AABC % DE|IBCT2T AD=3 DB= 5% #I. AC = 12 |.HI. & a AE
®T A S BRI | (2)

In AABC, DE|BC, AD =3cm. DB =5 cm. and AC = 12 cm. Find the
value of AE.

IR BT gRART HIRTT | ()
Define algorithm.
15 % ¥ 40 DT T [P TG A | )

Subtract 15 from 45 by complement theory.

. Tx . 4
IRIT &6 ————= H I R g™ o b gk T
x +x-12 4+ x
&l (3)
What should be subtract from ————— t 4
at should be subtract from 22 o get Aty



931 11

U3 12

Y31 13

YR 14

YR 15

U3 16

virendra

SN 3, 8,13, 18, mcerrcrrerrrren BT DI AT IS 498 T | (3)

Which term of the series 3, 8, 13, 18 ......... 1s 498.
x+y 2
H%x_y—gﬁﬁx:y P A9 ST BN | (3)
x+y 2
If — 7 then find the value of x: .
x—-y 3
Rrg @Y — ()
Prove that :
secG—tanGzl_sme
cos@
U Ty BT AT 12 HH. 3R HAS 6 AH. & Al eF oI fadd Hdrg
ST ST | (3)

The diameter of a cone is 12 cm. and height 6 cm. Find the slant height

of the cone.

AET 7 HY e 6 H 50000 T BT 2 9§ & oIy AGS ST fhar |
Ifg &1 BT <X 10 Ifaerd aiffe & T <ot i ©: 718 919 3o
gld & 1 IRYygarar R b I fbder a9 2 | (3)

Mohan deposit Rs. 50000 in Krishi Vikas Bank for 2 year in fixed deposite
account. If the rate of interest is 10% p.a., then calculate the maturity

amount if the interest is compounded half yearly.
a & &9 99 & forg 95 (14) (o, —2) 3R (—3,16) TG B8—  (4)
For what value of a, the point (1, 4), (@ —2) and (-3, 16) will be colliner.

(37erat) (OR)



U2 17

YR 18

U2 19

virendra

9 B &1 dsa wa aifoy s @it & [dene (4, 3), (2, —3),
(3, 5) B

Find the centroid of a triangle whose vertices are (4, 3), (2,—3) and (-3,
5).

el BrgsT & B1o1 FHGR Aol § & a4 g BI0T &I A 105° © <l
SO B A BT T F T SN | @)

The angles of a triangle are in A.P. The biggest angle is 105°. Find the

angles in radian.

(sferam) (OR)
U BST & @I 234 § 8 | B & @Ivl & A9 M$FT A =i«
PIFTT |

The angles of a triangle are in the ratio 2 : 3 : 4. Find the measures of

angles in radian.

2 2

X
x=asec@ TAT y=bhtanO B I g Y &b ?—g—zﬂ, (4)
x2 y2
If x =gsecO® and y =btanB then prove that : —2—? =1
a

(a7eram) (OR)
AT x=acos@ —bsin@ TAT y =asin@ +bcosB B a1 Rig dIvQ fh
x2+y2:a2 +b2

If x=gcos® —bsin@ and y=asinB +bcos@ then prove that :

x2+y2:a2 +b2-

S IS ¥ I3 U BT AT A DINY S IF 89 § ¥ Pler 1T 2
Rl PR oda1s 3 A B @)

132



Y3 20.

U2 21.

virendra

Find the volume of the greatest cone which can be cut from a cube

whose edge is 3 cm.
(31erar) (OR)

fpdl el BT Y &% 616 ¥ WAL B AT Tlel BT MRS ST
PITT |

The curved surface of sphere is 616 cm.? then find the volume of sphere.

S AT Bl & &hel Bl AU fdbwal &l | Yoisl & ail &
IUTT b SRR BT F | @)

Prove that the ratio of the areas of two similar triangles is equl to the

ratio of the squares of any two corresponding sides.
(sferam) (OR)

o1 Ha ferfay v g IfvTe |

State and prove that Thales theorem.

TH Il H 4 BIell, 5 olel, TAT 7 GH& Q¢ | IQ T g ATgesdl
F@rell ST a1 s9@! el a1 8RN b Mdrell 18 - (1) 9we
g (ii) AW AT Brefl |

A bag contains 6 black, 5 red and 7 white balls. If one ball is drawn at
random. What is probability that the ball drawn will be - (1) White, (i1)
White or black.

(srera) (OR)

ST YR F Bl g 52 AN DI Ueb TS H I U arel rgesdl Jidn
ST ', A e @ AR S1d Bifeig |

() TP UM BT A BT (i) I AT $€ BT TIFDHT & |



(i)

YR 22

YR 23

virendra

From a well shuffled pack of 52 cards, one card drawn at random. Find

the probability of the following -
One card 1s of heart
Ace of heart or diamond.

3ab 2x+3a  2x+3b
Eﬁﬁ-q + =
a+b 8 1 g 2 2x=3a 2x-3b

gfe x = 2. (5)

2x+3a +2x+3b _
2x=3a 2x-3b

Ifx:ﬂ h h
a+b’t en prove that

(a7eram) (OR)

A AR AP & n 9l @1 AhE HA: S, S, S, B e
U TS 1, 2, 3 JAT WK HA: 1, 3, 5 2| d g PIRU f —

3
S+ S+8,= 5(3;1 +D)n

If S, S,, S, be the sum of n terms of three A.P. and their first terms are

1, 2, 3 respectively and common difference are 1, 3, 5, then prove that

3
S;+S,+8,= ~(3n+hn ()

LI BT ol Ia9 IRTATE 12500 HII & AT A28 HT IRTHTE 6300
ST U dRel = | afe g8 = widsy Af § gfomrg 2000 ., S,
AMMEU. | TS 250 %, TAT R wigd 41 N # gfaay
69000 %. U4 STHER Siraw 91 DA gyfdad 10000 &. SHT HRAT & |
IAD §RT <F el MIBR A DIY | (5)

Basic salary of Ghanshyam is R.s 12500 per month and D.A. is Rs.
6300 per month. He invests Rs. 2000 per month in G.P.F., Rs. 250 per
month is G.I.S. and Rs. 69000 yearly as annual premium to L.I.C. and
also Rs. 10000 yearly in post office L.I.C. premium. Calculate the in-



come tax paid by him?

Rate of income tax :

upto Rs. 1,10,000 nil
From Rs. 1,10,001 to 1,50,000 10%
From Rs. 1,50,001 to 2,50,000 20%
above Rs. 2,50,000 30%

Educational cess : 3% of the total payable income tax and surcharge.
(rerar) (OR)

ofer @ i g (FhT fHRRT YT BrsHx) 1,80,000 ®9 § | afe
I8 M Afasy [ 5 9fay 40000 w9, FHE Sidd 4T Ao A,
250 ®I GfHTE TT 5000 3fg TP Siad 4T gifersdl # foed ST
AT 2| ST PN fb wnfer &1 oo mger S99 faxig af feamr
3R AT BT |

The annual income of Mrs. Shalini (Excluding HRA) is Rs. 180000. If
she deposite Rs. 40000 per year in G.P.F., Rs. 250 per month in G.L.S.
and Rs. 5000 half yearly premium towards L.I.C. Calculate her income

tax payable in the financial year.

Rate of income tax :

upto Rs. 1,10,000 nil
From Rs. 1,10,001 to 1,50,000 10%
From Rs. 1,50,001 to 2,50,000 20%
above Rs. 2,50,000 30%

Educational cess : 3% of the total payable income tax and surcharge.

99 24 BT ALMN @7 9T SIY Siel MN =5 |1, L = ]55° 3R L
A STl T oY o9 35 WHL B @ & U 91 gy |

Contrust A LMN in which MN =5 cm., []L = 55° and perpendicular
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from L is 3.5 cm. Write steps of construction.

(a7eram) (OR)

T FhIA IJYST ABCD @1 a1 DG 5 ] ABC =90°, AC= 6
HAH, AB= 3 ¥H, CD= 36 WAL AT & Ug 4 forar|

Construct a cyclic quadrilateral ABCD in which [JABC =90° AC= 6

cm., AB= 3 cm., CD= 3.6 cm. Write steps of construction.

ge 25, Aol @ wiftaer s ARG — ()
T RIS 0—10 10—20 20—30 30—40 40—50
JRERT 4 8 10 11 16
Find the medium of the following table :
Class 0-10 10-20 20-30 3040 |[40-50
Frequency 4 8 10 11 16
(@rT) (OR)
T 3BT e & gl S1d Iy —
Gl 0—10 10—20 |[20—30 ([30—40 |40—50 | 50—60 |60—70
INERAT 8 15 21 37 31 14 12
Find the mode of the following table :
Class 0-10 10-20 [20-30 [30-40 |40-50 | 50-60 |[60-70
Frequency 8 15 21 37 31 14 12
99T 26 U g9 qd fUdT &I MY Y @ Mg & 8 AT ol 7ot a1 &1 g g

virendra

BT IMY & I & SRR & | A ITd! JAAN 3G A DITOTY?

6)

One year ago, a man was 8 times as old as his son. Now his age is equal
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to the square of his son's age. Find their present ages.
(3rerat) (OR)

Tl AT 99 ORI ST BT R597d a7 BT AT 164 2 |

The sum of squares of two consecutive even numbers is 164. Find the

numbers.
R1g S & B e B o 6l Jon & @ & faepr s
SIS & T & IR [T S &R el ¢ | 6)

Prove that three times the square of any side of an equilateral triangle is

equal to four times the square of the altitude.
(31erar) (OR)

i PAB g1 &1 Badh W1 81 S 9 Bl 4 AR B R Uieeg &l ©
IR PT U W XN @vs & dl Rig BINT PA.PB = (PT)?

If PAB is a secant to a circle which intersecting the circle at 4 and B and

PT is a tangent segment, then show that : PA.PB = (PT)*
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Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



g9 1 (31) Wel f[ddhey gAY —

(1)

(i)

(iii)

(iv)

v)

Que 1 (A)

(M)

(i)

(iii)

(iv)

5 3R 10 &1 I STUN BFT—

(a) 15 (b) 20 () 25

g T 3fer | AT B —

(a) 45° (b) 60° (c) 75°
BT AYST D TG BV BT AN BT B
(a) 90° (b) 120° (c) 180°
0.125 T fgameRl yorrell # #19 R —

(a) 0.01 (b) 0.101 (c) 0.001
3% 7,8,8,7,9,8,10, BT Igadh BN —

(a) 7 (b) 8 () 9
Choose the correct answer -

Third proportional of 5 and 10 is -

(a) 15 (b) 20 (c) 25

T
Value of 3 in degree -

(a) 45° (b) 60° (c) 75°

Sum of opposite angle of cyclic quadrilateral is -

(a) 90° (b) 120° (c) 180°
Value 0f 0.125 in Binary number is -

(2) 0.01 (b) 0.101 (c) 0.001

(d) 30

(d) 120°

(1)

(d) 360°

(1)

(d) 0.111

(1)

(d) 10

(d) 30

(d) 120°

(d) 360°

(d)0.111
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(v) Modeof7,8,8,7,9,8 and 10 is -

(a)7 (b) 8 ()9 (d) 10
fich fjDRk LFkkUkk dh IkfRk dInfTk k&
i 1, 4,7, 10 BT IGAR ———— =
i &g @0)——— 3teT R Rerd g8rmm |
(iii)  tan(90 - 0) BT T |
(iv) T H ————— Beflh B & |
) 4 o A a B Rt @) T B |
(B) Fill in the blanks:
(1) Common difference of 1, 4, 7, 10, ...... IS weeeeieeeeieeeeeeeeens
(1)  Co-ordinate (4, 0) lies on ................. axis.
@)  Value of tan(90—=0) is ....cccovveereneee.
(iv)  Number of surface in cuboid is ...................
(v)  Length of diagonal of square is ................. whose side is 4 cm.
WRE i g BT R I BITI?
x—2 x—2
Find the different between x*l and -l .
x—2 x—2
T BRI 352 — 5342 =0 B I S BIAA?
Find the roots of 342 =5y +2 =0
LR EISEEIISE I

cos75°
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93
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U3 8

931 9

93 10
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sin15°
cos75°

Find the vlaue of

g (-3,4) 3R (2,3) & 4= g A9 DI ? )
Find the distance between (-3, 4) and (2, 3).

06 fHdl I B SaTs 20 FH TAT I Broam 7 I g O SHBT
THYS AT DI ? 2)

Find the curve surface of cylinder whose height is 20 cm. and radius in

78 cm.

st ABC § AB=28 9HI, AP=4 94I, AQ=3 |41, q2m AC =9 I
g a1 9183 PQ|[BC &R AT &l ? 2)

In AABC, AB=8 cm., AP =4 cm., AQ =3 cm. and AC =9 cm. then
show that PQ||BC or not.

IR & By aR faRmar falRed? )
Write four characterstics of algorithm.

HEIT 110011 3R 011101 H fGIMERY Yorrell ughy ¥ Sfed ? )
Find the sum of two binary number 110011 and 011101.

S AR BT AU 3:4 2| Ifa TS G H 8 wel faar oy o
U 2:3 B SIAT & | A WA 1A dIford? (3)

Two numbers are in the ratio 3 : 4, if 8 is subtracted to each of them they

become in the new ratio 2 : 3. Find the numbers.
T TG gAY 9 a1 B 3+./3 T 3-4/3 BT °? (3)

Construct the quadratic equation whose roots are 3 +./3 and 3-./3.
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I =R a, b, ¢ Aadgaa # 81 a1 g IRy - (3)

If a, b, and ¢ are in continued proportional then prove that

a’*+ab+b*
b* +bc +c?
HIgd 7 PV f[IH b ¥ 50,000 %, 2 I¥ & (o7 Qrafey ST b |
Ife T BT g% 10 YA ¥ 81 9T <17 Ui BeHTe] |Aaiod siar
g a1 IRYFadT R d& 9 R o9 | F1d P ? (3)

_a
o

Mohan deposit Rs. 50000 in Krishi Vikas Bank for 2 year in fixed deposite
account. If the rate of interest is 10% p.a., then calculate the maturity

amount if the interest is compounded half yearly.
Rig P tan”0 —sin 0 = tan? O.sin” O (3)
Prove that tan”@ —sin? @ =tan? O.sin” 0

Q1 Tl & SRl BT AU 1:8 8 Al I 13N T AT S
DI ? (3)

The ratio of volume of two sphere is 1 : 8 then find the ratio of their

radius.

a @ | 79 @ forg 95 (14) (@, —2) 3R (-3,16) ARG B—  (4)

For what value of a, the point (1, 4), (a —2) and (-3, 16) will be colliner.
(ereren) (OR)

9 B &1 dsa wa difoy s @it & [dene (4, 3), (2, —3),
(3, 5) B

Find the centroid of a triangle whose vertices are (4, 3), (2,—3) and (-3,
5).
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el BrgsT & B1o1 FHGR Aol § & a4 g BI0T &1 A 105° © <l
DI & A BT T F T BN | @)

The angles of a triangle are in A.P. The biggest angle is 105°. Find the

angles in radian.

(3rerar) (OR)
U BST & @I 234 § 8 | BT & @Ivl & A9 MFT A =i«
PIFTY |

The angles of a triangle are in the ratio 2 : 3 : 4. Find the measures of

angles in radian.
x2 y2
x=asec@ AT y:btan9 ﬁﬁﬁl@zﬁm% ?_b—zzl, (4)

2 2

X Yy _
If x =gsecO® and y =btanB then prove that : —2—?—1
a

(a7eram) (OR)

I x=acosB@ —bsin@ <=AT y:asinQ +bcosO B Al ﬁl@' aﬁﬁfm fb

x2+y2:a2 +b2-

If x=gcos@ —bsin@ and y=asin@ +bcosO then prove that :

x2+y2:a2 +b2-

S IS ¥ I3 U BT AT A DINY S IF 89 § ¥ Pler 1T 2
R PR odars 3 A B @)

Find the volume of the greatest cone which can be cut from a cube

whose edge is 3 cm.
(372rdn) (OR)

fpdl el BT Y &% 616 ¥ WAL B AT Tlel BT MRS ST
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(1)
(i)

DINTY |

The curved surface of sphere is 616 cm.? then find the volume of sphere.

S AT Bl & &Fhel Bl AU fdbwal &l | Yoisl & ail &
IUTT b SRR BT F | @)

Prove that the ratio of the areas of two similar triangles is equl to the

ratio of the squares of any two corresponding sides.
(rerar) (OR)
I THY fIRay vd g Py |

State and prove that Thales theorem.

TH Il H 4 Plell, 5 olel, TAT 7 GH& Q¢ | I< U@ g ATgesdl
Fdrell ST a1 s9@! el a1 8F b Mdrell 18 - (1) 9we
g (ii) AW AT Brefl |

A bag contains 6 black, 5 red and 7 white balls. If one ball is drawn at
random. What is probability that the ball drawn will be - (1) White, (i1)
White or black.

(37erat) (OR)

3! YBR I Wl g 52 AN &I Tb TSl H H U I ATgeadT Fial
ST 2, @ e @ wifear s e |

() TS U T A 8l (i) U AT §€ BT YT & |

From a well shuffled pack of 52 cards, one card drawn at random. Find

the probability of the following -
One card is of heart

Ace of heart or diamond.
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3ab 2x+3a  2x+3b _
+ 2

at+b 8 T g 2 2x-3a 2x-3b

gfe x=

2x+3a  2x+3b _
+ 2

fr= o that =
chproverat 5 34 2x-3b

a+b’

(srera) (OR)

A AR AP & n 4Gl @1 ANhE HA: S, S, S, B 1 e
U TS 1, 2, 3 JAT WK HA: 1, 3, 5 2| d g PIRU f —

If S, S,, S, be the sum of n terms of three A.P. and their first terms are

1, 2, 3 respectively and common difference are 1, 3, 5, then prove that

3
S+ S,+8,= —(3n+Dn ()

LI BT ol I9 IRTATE 12500 HII & AT A28 HT IRTHTE 6300
ST U dRel = | afe g8 = wfdsy [f § gfomrg 2000 ., S,
AMMEU. H UHIE 250 %, TAT R wigd 41 N # gfaay
69000 %. U4 STHER Siraw 91 NHTH gyfdad 10000 &. SHT HRAT & |
D §RT <F el IR AT DIY | (5)

Basic salary of Ghanshyam is R.s 12500 per month and D.A. is Rs.
6300 per month. He invests Rs. 2000 per month in G.P.F., Rs. 250 per
month is G.I.S. and Rs. 69000 yearly as annual premium to L.I.C. and
also Rs. 10000 yearly in post office L.I.C. premium. Calculate the in-

come tax paid by him?

Rate of income tax :

upto Rs. 1,10,000 nil
From Rs. 1,10,001 to 1,50,000 10%
From Rs. 1,50,001 to 2,50,000 20%
above Rs. 2,50,000 30%

Educational cess : 3% of the total payable income tax and surcharge.
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(steram)

Tfer @ a1 g (FhT fHRIT YT BrsHx) 1,80,000 ®I § | afe
I8 MY Afasy [ § 9fay 40000 w9, FHE Sidd 4T Ao A,
250 ®I YHTE TT 5000 3fg 1D Sitad AT gifersdl # foed ST
AT 2| ST PN fb wnfer &1 s x99 faxig af feamr
MG AT BT |

The annual income of Mrs. Shalini (Excluding HRA) is Rs. 180000. If
she deposite Rs. 40000 per year in G.P.F., Rs. 250 per month in G.L.S.
and Rs. 5000 half yearly premium towards L.I.C. Calculate her income

tax payable in the financial year.

Rate of income tax :

upto Rs. 1,10,000 nil
From Rs. 1,10,001 to 1,50,000 10%
From Rs. 1,50,001 to 2,50,000 20%
above Rs. 2,50,000 30%

Educational cess : 3% of the total payable income tax and surcharge.

BT ALMN &1 391 $IRY STl MN =5 94, L = []55° 3R L
I STl T Y dd 35 WAL BN @I B Uy Wl forfgu |

Contrust A LMN in which MN =5 cm., [JL = 55° and perpendicular

for L is 3.5 cm. Write steps of construction.
(3rerat) (OR)

T Ihid aggS ABCD @1 a1 BT R aH [ ABC = 90° I AC
=6 WH. , AB= 3 9HI, CD= 36 ¥H. W@ & 4g T for@r |

Construct a cyclic quadrilateral ABCD in which [JABC =90° AC= 6

cm., AB= 3 cm., CD= 3.6 cm. Write steps of construction.



yeT 25, o Aot | wiitger sa SR — ()
T RIS 0—10 10—20 20—30 30—40 40—50
EIECINGI 4 8 10 11 16
Find the medium of the following table :
Class 0-10 10-20 20-30 3040 | 40-50
Frequency 4 8 10 11 16
(@r) (OR)
T 3BT e & gl S1d Iy —
I 0—10 10—20 | 20—30 | 30—40 | 40—50 | 50—60 | 60—70
EIECINGI 8 15 21 37 31 14 12
Find the mode of the following table :
Class 0-10 10-20 | 20-30 | 3040 | 40-50 | 50-60 |60-70
Frequency 8 15 21 37 31 14 12
99T 26 U g9 qd fUdT oI MY Y @ Mg & 8 AT ol 7ot a1 &1 g g
B AP B T D GRIER © | Al IAD] IAAM AT ST DIFSTY? 6)
One year ago, a man was 8 times as old as his son. Now his age is equal
to the square of his son's age. Find their present ages.
(@r) (OR)
& PN A A=A S BISTY TS 991 BT AT 164 B |
The sum of squares of two consecutive even numbers is 164. Find the
numbers.
e 27 g I {6 fooell wwarg fBrgsr @ foefl o & anf & farpar swast

virendra
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FAE B o B AR T D R T § | ©)

Prove that three times the square of any side of an equilateral triangle is

equal to four times the square of the altitude.
(rerar) (OR)

I PAB 91 @1 ©adh X@T &1 Sl g Bl 4 3R B W Jfress &<l ©
IR PT U W @1 @vs & oI Rig PINT PA.PB = (PT)

If PAB is a secant to a circle which intersecting the circle at 4 and B and

PT is a tangent segment, then show that : PA.PB = (PT)*
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Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



ueT 1 (37) \El faded gfag —

() 6 3R 54 P FEATIURH BN |

(a) 9 (b) 18 (c) 12 (d) 21
(i) 502 BT T AT B

(a) 30° (b) 60° (c) 45° (d) 90°
(i) IT BT BIS AT fhaT gl ) Hred € |

(a)2 (b) 1 (©)3 (d) 4
(iv) 0.625 P {GAMINT Yormell H A &7 |

(2) 0.001 (b) 1.001 (c) 0.100 (d)0.101
(V) 3,6, 2 7,5 9, 8 BT HAIABT 81|

(a) 5 (b) 6 (c) 7 (d) 8
(A) Choose the correct answer-
(i)  Mean proportional of 6 and 54 is -

(2) 9 (b) 18 (c) 12 (d) 21
(i)  Value of 502 in degree is -

(a) 30° (b) 60° (c) 45° (d) 90°
(i) The chords of a circle intersect the circle at point -

(a)2 (b) 1 (c)3 (d) 4
(iv)  Value 0f 0.625 in Binary number is -

(2) 0.001 (b) 1.001 (c) 0.100 (d)0.101

(v) Mediumof3,6,2,7,5,9and 8 is -
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(a) 5 (b) 6 ()7 (d) 8

(@) R =l &1 gl BT |

(M)

(i)
(i)
(iv)
v)

(B)
(1)

(i)
(i)
(iv)
v)

1 3R 50 & A& fq9A Qi o |&T ———— B |
I B I § g v (T8) o 9@ ———— Bl © |
39 fIg &1 T ——————— BT ST y-21e H Reyd 7|

Bl |

Fill in the Blanks -

The number of terms of odd number between 1 and 50 is .................
The number of faces of a right triangular prism is ..................

The coordinate of a point of y-axis are ......................

Value of sin(90—=6) is ....cccceevvveveeueennen.

Length of diagonal of rectangle is ................ whose sides are 8m and

6m.

x+1 x—1

x—2 3R -2

BT ITHS STd HITY |

=

x+1 x—1
x—2 an x—2

Find the sum of

T FHIERT 1552 +x -2 =0 @ Hl B IR Ud UFH S
HITSTY |

Find the sum product of roots of the quadratic equation 1552 + x =2 =0
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cosec39°

S~ @I A 91T BN |
sec51

cosec39°

Find the value of
sec51°

fa=g (2, 3) 3R (4, 1) & I T A ST DI |

Find the distance between (2, 3) and (4, 1)

Td T & IMER B fhaT 7 JH 3R HaTs 15 AHT 8 A1 U BT SMAT
ST B |

Find the volume of cone whose height is 15 cm. and radius of base is 7

cm.

3T DEF # DE iR DF R fag P3iR Q39 UsR 2 f& DP =5 ¥,
QF =24 ¥+, DE = 13 ¥#1, @21 DF =39 ¥+ fe@rsy PQJ[EF.

InpADEF, DP = 5 cm., QF =24 cm., DE = 13 cm. and DF = 39 cm.
Show that PQ||EF or not.

JAMRYT & wYvT &7 g1 YR forRauy |
Write two types of or developed an algorithm.

45 % F 15 DI [ 36 Rgra A gy |

Subtract 15 from 45 by complement theory.

x +1 X —x+1 R
Jfg R = IR S=——— B Al — BT 99 S B |
x—1 x+1 S
3 2
x” +1 x —x+1 R
IfR= and S = ——, then find the value of —
x—1 x+1 S

a_a+tc
Erﬁa:b=c:d8§fﬂ§fﬁlc_§zﬁﬁl1§ﬁ7g—b+d
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Ifa:b=c:d th hat £=27¢€
a:b=c: ,tenprovetatb b+d

7 302 Srofl 3,8,13,————— B PIs UG T |
Is 302 a term of the series 3, 8, 13, oovveeeeennnn.

AT {AR 7 100 6. GHTE & <X ¥ 2 a4 & forg afrec SAT @i
I | IS & B TR SV gfierd arfies 81 df 9 QT a¥ d1e faa
IHH B T R |

Manoj KUmar opened a recuring deposit account of Rs. 100 per month
for 2 years. If the rate of interest is 5% p.a., then calculate how much

amount will be receive after 2 years.
AIAADT gin* @ + cos? 6 =1 —2sin> B.cos> O DI RIg BINY |
Prove that : gin*@ + cos> @ =1 —2sin> B.cos’ 6

S g W g Tl T IMAdT S0 HITT ST S 89 H $iel o
T PR 6 AW BT T |

Find the volume of the greatest sphere which can be cut from a cube

whose edge is 6 cm.

a & &9 99 & forg 85 (1.4) (o, —2) 3R (—3,16) TG 8—  (4)

For what value of a, the point (1, 4), (@ —2) and (-3, 16) will be colliner.
(31erar) (OR)

9 B &1 dsa w1a difoy s ot & [dene (4, 3), (2, —3),
(3, 5) B

Find the centroid of a triangle whose vertices are (4, 3), (2,—3) and (-3,
5).



U2 17

Y3 18

U2 19
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el BrgsT & B1o1 FHGR Aol § & a4 g BI0T &1 A 105° © <l
DI & A BT T F T BN | @)

The angles of a triangle are in A.P. The biggest angle is 105°. Find the

angles in radian.

(3rerar) (OR)
U BST & @I 234 § 8 | BT & @Ivl & A9 MFT A =i«
PIFTY |

The angles of a triangle are in the ratio 2 : 3 : 4. Find the measures of

angles in radian.
x2 y2
x=asec@ AT y:btan9 ﬁﬁﬁl@zﬁm% ?_b—zzl, (4)

2 2

X Yy _
If x =gsecO® and y =btanB then prove that : —2—?—1
a

(a7eram) (OR)

I x=acosB@ —bsin@ <=AT y:asinQ +bcosO B Al ﬁl@' aﬁﬁfm fb

x2+y2:a2 +b2-

If x=gcos@ —bsin@ and y=asin@ +bcosO then prove that :

x2+y2:a2 +b2-

S IS ¥ I3 U BT AT A DINY S IF 89 § ¥ Pler 1T 2
R PR odars 3 A B @)

Find the volume of the greatest cone which can be cut from a cube

whose edge is 3 cm.
(372rdn) (OR)

fpdl el BT Y &% 616 ¥ WAL B AT Tlel BT MRS ST
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(1)
(i)

DINTY |

The curved surface of sphere is 616 cm.? then find the volume of sphere.

S AT Bl & &Fhel Bl AU fdbwal &l | Yoisl & ail &
IUTT b SRR BT F | @)

Prove that the ratio of the areas of two similar triangles is equl to the

ratio of the squares of any two corresponding sides.
(rerar) (OR)
I THY fIRay vd g Py |

State and prove that Thales theorem.

TH Il H 4 Plell, 5 olel, TAT 7 GH& Q¢ | I< U@ g ATgesdl
Fdrell ST a1 s9@! el a1 8F b Mdrell 18 - (1) 9we
g (ii) AW AT Brefl |

A bag contains 6 black, 5 red and 7 white balls. If one ball is drawn at
random. What is probability that the ball drawn will be - (1) White, (i1)
White or black.

(37erat) (OR)

3! YBR I Wl g 52 AN &I Tb TSl H H U I ATgeadT Fial
ST 2, @ e @ wifear s e |

() TS U T A 8l (i) U AT §€ BT YT & |

From a well shuffled pack of 52 cards, one card drawn at random. Find

the probability of the following -
One card is of heart

Ace of heart or diamond.
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3ab 2x+3a 2x+3b
HIfTU + =2
a+b 81 it g &2 2x=3a 2x-3b

gfe x=

2x+3a  2x+3b _
+

fr= o that =
chproverat 5 34 2x-3b

a+b’

(srera) (OR)

A AR AP & n 4Gl @1 ANhE HA: S, S, S, B 1 e
U TS 1, 2, 3 JAT WK HA: 1, 3, 5 2| d g PIRU f —

If S, S,, S, be the sum of n terms of three A.P. and their first terms are

1, 2, 3 respectively and common difference are 1, 3, 5, then prove that

3
S+ S,+8,= —(3n+Dn ()

LI BT ol I9 IRTATE 12500 HII & AT A28 HT IRTHTE 6300
ST U dRel = | afe g8 = wfdsy [f § gfomrg 2000 ., S,
AMMEU. H UHIE 250 %, TAT R wigd 41 N # gfaay
69000 %. U4 STHER Siraw 91 NHTH gyfdad 10000 &. SHT HRAT & |
D §RT <F el IR AT DIY | (5)

Basic salary of Ghanshyam is R.s 12500 per month and D.A. is Rs.
6300 per month. He invests Rs. 2000 per month in G.P.F., Rs. 250 per
month is G.I.S. and Rs. 69000 yearly as annual premium to L.I.C. and
also Rs. 10000 yearly in post office L.I.C. premium. Calculate the in-

come tax paid by him?

Rate of income tax :

upto Rs. 1,10,000 nil
From Rs. 1,10,001 to 1,50,000 10%
From Rs. 1,50,001 to 2,50,000 20%

above Rs. 2,50,000 30%



YR 24

virendra

Educational cess : 3% of the total payable income tax and surcharge.
(3rerat) (OR)

IMfTT BT aTf¥es I (HebT fhRTAT YT BISdR) 1,80,000 ©IY 2 | IfS
ag = wfiasy [ § ufoad 40000 FUR, g Sitaw 7 AT H,
250 WY GIIATE TAT 5000 3Tg ¥ Siig= a1 arfersdt # fared ST
HAT 2| ST BT o enfert @1 erom smaar S faxir o foaer
3MAFR AT BT |

The annual income of Mrs. Shalini (Excluding HRA) is Rs. 180000. If
she deposite Rs. 40000 per year in G.P.F., Rs. 250 per month in G.L.S.
and Rs. 5000 half yearly premium towards L.I.C. Calculate her income

tax payable in the financial year.

Rate of income tax :

upto Rs. 1,10,000 nil
From Rs. 1,10,001 to 1,50,000 10%
From Rs. 1,50,001 to 2,50,000 20%
above Rs. 2,50,000 30%

Educational cess : 3% of the total payable income tax and surcharge.

BT ALMN @7 9T SITY Siel MN =5 |91, L = ]55° 3R L
A STl T oY o9 35 WHL B @ & U 91 gy |

Contrust A LMN in which MN =5 cm., []L = 55° and perpendicular

for L is 3.5 cm. Write steps of construction.
(31era1) (OR)

T DI G ABCD B 1 BIY F9H ] 4ABC = 90° 32T AC
=6 WH. , AB= 3 9, CD= 36 UH. & & Ug 41 fordn|

Construct a cyclic quadrilateral ABCD in which [JABC =90° AC= 6

159



cm., AB= 3 cm., CD= 3.6 cm. Write steps of construction.

geq 25. = ARl & Aftaer S i — (5)
I 3R 0—10 10—20 20—30 30—40| 40—50
EIECIEGI 4 8 10 11 16

Find the medium of the following table :

Class 0-10 1020 20-30 3040 40-50

Frequency 4 8 10 11 16

(srera) (OR)

¥ Rl 91 ¥ 9gdAd = HITTY —

Gl 0—10 10—20| 20—30, 30—40 40—-5( 50—6Q 60—70

FIRRAT 8 15 21 37 31 14 12

Find the mode of the following table :

Class 0-10 10201 20300 3040 40-50 50-60 60-7Q

Frequencly 8 15 21 37 31 14 12

9T 26 U Ay qd a1 &f g IF @I Y & 8 1 AT 37T U1 @ 3y g
DAY & I D SRIER B | Al SID! IAATT AT AT BIFY? 6)

One year ago, a man was 8 times as old as his son. Now his age is equal

to the square of his son's age. Find their present ages.
(rerar) (OR)
31 HANTT A9 AR ST HIg {5 a7 &7 AT 164 B |

The sum of squares of two consecutive even numbers is 164. Find the

numbers.

virendra
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R1g S & 6l wwarg B o 6l o & @ & fpar s
SIS & T & IR [T S &R el ¢ | 6)

Prove that three times the square of any side of an equilateral triangle is

equal to four times the square of the altitude.
(rerar) (OR)

I PAB 91 @1 ©adh X@T &1 Sl g Bl 4 3R B W Jfress &<l ©
IR PT U W @1 @vs & oI Rig PINT PA.PB = (PT)

If PAB is a secant to a circle which intersecting the circle at 4 and B and

PT is a tangent segment, then show that : PA.PB = (PT)*
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Scheme of Question Paper
faw— fazm qurieh : 75
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ORIETT © 8IS ¥hd
(@) el SqRTE D IER A

(A) Weightage as per Educational objective:

|0 30 SEGLL 3® gfirera
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AT BT U2 &1 ST 8IR I8 Udd e | U HHAD 1 B8R |
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31 3! & TSR qAT STESTRIT el H fdaweq faar Srem 2 | fdaed
T I Pl W AT FHM I3 & i | 04 3 IT I/ AP bl &

e UP AT H U A Tedl |
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Pl i— (Class) - G4l quiie 75 (M.M.)
(Instruction) — (fAcde)

1. 9 U & T SIfad © |

virendra

Attempt all the Question

U3 BHHlB 01 W 10 3 FEiRd 8 | <1 Suwus € | Wus "I H 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U HHIG 02 | U HHIP 06 TF AT TSI U 8 | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 06 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
U D 07 H TIH HHAID 10 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 07 to 10 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 11 F U HAIG 14 b dgSaid U § | TP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 11 to 14 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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e HHIG 15 | UL HHIG 17 TH HSaNg U1 © | IS U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 15 to 17 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 18 W UL HHIP 19 ddb QrdScaed Ued & | UJd g9 H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 18 to 19 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



gei—1 (31) AEl fdheq g foRay— yx&e & forg 1 aid 1x5=5
() TR A T BT B g9 B IV fo Qe &1 ST fohar Ser ® |

CVERERECIERIES (b) FeT  sifaaTES

(c) HSHIH ATHZS (d) BrdTeT JiTRITES
(ii) lé\(;OH(n fae@T &1 pH 19 T &

(a) 1 (b) 2

) 3 (d) 4

(i) TP q@ BT Selagl=d A= 2,81 &1 I§ dId BN —
CRSINERCIS! (b) &R 7T g
(c) p—=TTh e (d) d—= ae

(iv) X raeT pErdT a—

(a) I&] DI 4TS (b) Ui @1 Far8

yffars & TS X Bl TS
(c) TP yfafew &1 ofars (d) SR ¥ q B & |
R gfafds @1 <fare
(v) 9R ot = faRad & 9 feas R 8-

(a) eraT arfafshar (a) faxged arfifamar

(c) (a) Ua (b) I AMAfHAT  (d) SWIGd # A DI ol |



Quel

virendra

(A)
(1)

(i)

(iv)

v)

Choose the correct option and answer. Each question carries 1 marks.

Which compound is used for providing dark blue colour to glass-

(a) Cuprous oxide (b) Manganes oxide
(c) Cadmium sulphide (d) Cobalt oxide
The pH value of 1000 HCl solution is -

(a)l (b) 2

(c) 3 (d) 4

The electronic configuration of an element is 2, 8, 1. The element is -
(a) alkaline metal (b) alkaline earth metal
(c) p-block element (d) d-block element

Linear magnification is

Length of object Length of image
(@) Length of image (b) Length of object
Length of one image
(©) (d) None of the above

Length of other image

The source of energy in the sun is due to -
(a) fusion reaction (a) fission reaction

(c) (a) and (b) both (d) None of the above
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Rert Tl @1 gfd BT —gde & fow — 1 3id

(1)

(i)
(iii)

(iv)

(V)
(B)

(i)
(ii)
(iv)

(v)

fpdl areter AR H fdgd ORT Yarzed &)d R SHd Aofald ————
IO~ BT B |

UH FEE B A ThS I R TAD s § ———— IUReIT Y& & |

g H IR IHd A IS qrAd U & a1 g7 ——— BT
gl

I & Ul gRT 3999 H BIS! T8 ———bT IUIANT JhT YT § TS
g T B

Fill in the blanks - (Each one carries one marks)

When current passes through a conducting wire ............. is produced

near it.
When a magnet is broken into three pieces, every piece contains ............
Liver, the largest digestive gland present in a human being weighs .......

Atnightthe ................ released by trees during respiration is not utilised

in photosynthesis.

The materials or factors which cause pollution are called ................. :

oI @I IRYIIT HITY | 2 3ih
Define Roasing.
ENECE GG ERE I ReI 1+1 3

Write the two laws of reflection.



R1—4

YR1-5

YR1—6

UR4—7

Y-8

9R1—-9
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(i)
(iii)

qIESPROT Bl IRHETNT HIFT |

Define egestion.

2 3fh

10Q @ 5 YRR Bl AR B H Sied TR S~ IRUMHT iR
DI IET HIFTY | gI— 1 3fh, TOAT — 1 3ib

If five resistances each of resistance 10 ohm in series, find out the result-

ant resistance.
TIT 99T BT W HIU |
Explain cutaneous respiration.

& YUYl & A BROT fRay |

Give three causes of sound pollution.

RIT BIAT & SMdid — (®ad RIS FHI6R0T forRay ) |
Na €1 33 9t ¥ fbar a=ell & |

CaCO, &I T fbar S 2 |

N, 3R H, & afifhar exil g |

What happens when - (Give only chemical equation)

Na metal reacts with cold water.

CaCQ, is heated.

N, and H, react with each other.

3 iR wfier # 9 iR farfay |

Write three differences between ore and minerals.

23[h

(1+1+1)

(1+1+1)

(1+1+1)
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(i)
(i)

AR el Uel &1 dhael A™ifdbd o 9918y | (1% + 1'%)

Draw a labelled diagram of solar cell panel.

JIMATHAT TR BT FHIAT B dTed AR BRDI DI G BT | (1+H1+1+1)
Give four factors that affect the rate of reaction.

(a7eram)
RNRINS 9T & IR Y9 v falkay | (14+1+14+1)

Give four main characteristics of chemcial equilibrium.

tRifed et fAaior & g RRer fafS &1 fA=ifea sl & goiq
DI |

AT BT TS FHIBRT | 1 3id
g fafer werg | 2 3
URife® avel @1 NH,OH ¥ SAMAfhaT b1 dhefel FHIBRT | 1 3

Describe the quick Vinegar process of manufacture of acetic acid on the

headings given below.

Chemical equation of the reaction.

Laboratory method in brief.

Chemical equation for the reaction of acetic acid with NH,OH.
(sferam)

U Uodblalal AT @ fhvgs fafy o1 gvig fAeifed el &
AT HINTY |
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() MHfhar &1 RIS FHIBROT — 1 3P
(i) fafer &1 deg 7 o — 2 3i®
(iii) RISl Uehiglal &I Na o1q & AMTHAT BT FHIBIOT | 1 3fdH

Describe the fermentation method for the manufcture of ethyl alcohol

under the following headings.
(1) Chemical equation of the reaction.
(1) Brief description of the process.

(1) Chemical equation for the reaction of ethyl alcohol and Na Metal.

FEBE B foly HAAM BT FahA a1 BT 9F [T@aR Udhidh gd Dl
TS | (3+1)

Write the Coulomb's inverse square law of magnetism and explain unit

pole.
(crerdn)
Rig ®IFT —  y=Htano (2+2)
P=H"+V?
STl @ = SHUT PIvf
[ = gl &1 |yl <dear
H = Yed1 31 &fds acd
V= SR Ued ¥ |

Prove that :- V=Htan8 (2+2)



YR1—14

YRd—15

9R1—16
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I’=H*+V?

Where 0 = Angle of declination.

I = Total intensity of earth's magnetic field

H =Horizontal component of earth's magnetic field

V' = Vertical component.
SR & fhsl IR BT BT qUF HIFT | (1+1-+1+1)
Describe any four functions of blood.

(sferam)

THT & fdhal IR BT BT 90 DI | (1+1-+1+1)

Describe any four functions of lymph.

gD [l ded 87 UIPidd Ud HINT dgcid & al—al IQTeRI Qi

T | (1+H1+1+141)
What are polymers? Explain giving two examples for each natural and
synthetic polymers.

(312ran)

PV.C. & IRT M IR G folgdr g8@a diF T foalay |

Write the full name and formula of P.V.C. and give three properties of it.
STRfTga Uq TR va9e H uiwr iR fIRay | (1+H1+14+141)
Give five differences between aerobic and anaerobic respiration.

(sferam)



B dT U4 3999 § g 3R forRav | (1+H1+H14+141)

Give five differences between breathing and respiration.

gei—17  TINT AT H AIde U DI BIbd G A bR Dbl Td U Ay @1
JANT T o9 =Tifdhd eivel & Sfaiid @ifory |

() frgia (i) THifea e (i) 3rderde AR | (14+2+2)

Describe the single pin method to find out the focal length of a concave

mirror on the following headings -
(1) Theory (i1) Labelled diagram (ii1) Observation table.

(srern)

JARTRIAT H BId @ AIATBR [Cd Pl ATacdh S HRT & GIRT Bl
quiq fifdhd el & 3T HIFTT | (1+2+2)

() Frgl@ (i) TMifed &= (iii) saard aRolt

Explain the determination of refractive index of a glass slab in the labora-

tory on the following prints -
(1) Principle (i1) Labelled diagram (iii) Observation table.

gei—18  fdgd 9RU # SUANT B arel (e dadl @ W falag | —
Write the names of the following symbols used in an electric circuit.

qJh W 1 3ih

virendra



(Vi) X

V) —"A\AANNANA— — ANANAANAN, —

(srern)

fagga aRRuer # SWANT BN arel fifa Sadal & M fofRey |

Write the names of the following symbols used in an electric circuit.

TS TR 1 3Ab
(1) ('} (i) ©)
(i) — @)= (iv [
(v) > v) —E\ H——
ge—19  HAMd H IO dF B Grad qoiE Hifvig (2+2+2)

Explain the excretory system of a man with a labelled diagram.
(sferam)

qa | 77 FEior 1 gfhar &1 |fem aoiE i |

Explain the process formation of urine with a labelled diagram.

virendra



Set - B
TS o wfcfhae e

High School Certificate Examination
AT T3

SAMPLE PAPER
fasg — (Subject) - fas= FHY 3 °YST (Time- 3 Hrs)
Pl i— (Class) - G4l quiie 75 (M.M.)
(Instruction) — (fAcde)

1. 9 U & T SIfad © |

virendra

Attempt all the Question

U3 BHHlB 01 W 10 3 FEiRd 8 | <1 Suwus € | Wus "I H 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U HHIG 02 | U HHIP 06 TF AT TSI U 8 | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 06 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
U D 07 H TIH HHAID 10 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 07 to 10 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 11 F U HAIG 14 b dgSaid U § | TP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 11 to 14 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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e HHIG 15 | UL HHIG 17 TH HSaNg U1 © | IS U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 15 to 17 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 18 W UL HHIP 19 ddb QrdScaed Ued & | UJd g9 H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 18 to 19 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



9o 1. (31) e fddhed BT F1d B IH AT IR IRADT H e — e R
136 |

(a) IREX A% IRT &I IS GF 2
(a) CaSO,.H,0 (b) CaSO,.%sH,0
(c) CaSO,.2H,0 (d) CaSO,.%H,0
(b) f5d e @ pH &1 A9 7 F B BNT—
(a) T BT 9= (b) |IgT BT °Ie

(c) R=a (d) grae AT BT STelg faeta T |

() UH I Hl Feldelid f[a=mg 2, 8, 2 8 I8 ad &8ll—
(a) =& T (b) p— ol e
(c) d—<cTldp T (d) f~=IT® dad |

(d) oEdd TUU B BIHH I BRI o—

(a) 2 x gehar ream (b) meﬂ
2 . .
(C)m (d) SRITT H F PIs Tel |

(e) M@ RIdex # PRI B BS BT Bl 8-
(a) =% & w7 | (b) 389 & ®T H
(c) ¥Nda® & w7 H (d) TRReTh & w9 H |

Quel (A) Answer the following question choosing the right option-
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(1)

(i)

(i)

(iv)

(V)

@)
(a)

The chemical formula of plaster of paris is -

(a) CaSO,.H,O (b) CaSO,.2H,0

(c¢) CaSO,.2H,0 (d) CaSO,.7%sH,0

Which of the following solutions has pH value less than 7 -

(a) lime water (b) soap dissolved in water

(c) acetic acid (d) water solution of washing soda.
Electronic configuration of an element is 2, 8, 2. This element is -
(a) s-block element (b) p—block element

(c) d-block element (d) fblock element.

The focal length of a concave mirror is -

radious of curvature
2

(a) 2xradius of curvature (b)

2
radious of curvature

(©) (d) None of the above.

In a nuclear reactor uranium rods function as -

(a) controller (b) fuel
(c) coolant (d) protector
Rad i &1 gid I — IId W 1 3D

Ife PIe IR Bs IREN & FIoT B 39 bR Jfoxenfid & < fo
gRYr # RT &7 719 JURAfdd I8 o 39 Adbodl gfaRler &l
gfaReT ded @ |
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(b)

(c)
(d)

(©)
(B)

(b)

(c)
(d)

(©

ged] Ueh g grId Bl Al FIeR BRI @ §9b DR & W=l [
ACH R TIPS FHh qad ———— foem o ogva 2 |

AT § SuRerd 98T BH TufdsT Udh 3T T

JpTe HEAYY qgHSA™ CO, BT IYIN BRebp ——————— BT BIST
ST €1 Y& JoIT Hel Bl a9 G 2 |

Fill in the blanks -

If a single resistance can replace combination of many resistances in
such a way that current value remains unaltered then this single resis-

tance 1s called ................... resistance.

Our earth acts like a big magnet, that is why a freely suspended magnet

always stays along .............. direction.
Vermi form appendix present in a man is an ........... organ.
The photosynthesis used CO, and release ............. thus maintains clean-

liness and balance.

Noise pollution has its greatest effect on .....................

s @1 Ry HIfvie — 2 3h
Define calcination.
3vacd @& |r e foRag (141) 3

Write the two laws of refraction

TTTHROT BT IRYTNT BT 2 3P
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Define assimilation.

10 Q @ Uid YR &I Hofipd # Sired IR IR YRR &1 3701
BT — qF 1 b, U 1 3

Claculate the resultant resistance if five resistance are connected in se-

ries.

JEIEI ¥a9T Bl WL DY — 2 3d

Explain the respiration through buccal cavity.
S YguUT & oI RO faalgy — (1+1+1)
Write three causes of water pollution.

T BT & 9 (Bdel IRAfD FHIHR0T SIRT ) (1+141)
N, 3R O, & 5707 Bl ST W TH P € |

C 3R S & fsror &1 7 a=d B |

Mg €1q &1 STl & |1 SaTeld 2 |

What happens (Give only chemical reaction)

When the mixture of N, and O, is heated at high temperature.
When the mixture of C and S is heated.

When Mg metal is boiled with water.

gTg 3R Mg W ARG O & IR TR 4 HeR IRy

On the basis of chemical properties write three differences between met-

als and non metals.
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Y111

YRd—12

virendra

(i)
(i)

Ml WRIddd AR HhR BT Dael AMIDbd & I8

Draw a labelled diagram of spherical reflector solar cooker.

JIMATHAT TR BT FHIAT B dTed AR BRDI DI G BT | (1+H1+1+1)
Give four factors that affect the rate of reaction.

(a7eram)
RNRINS 9T & IR Y9 v falkay | (14+1+14+1)

Give four main characteristics of chemcial equilibrium.

tRifed et fAaior & g RRer fafS &1 fA=ifea sl & goiq
DI |

AT BT TS FHIBRT | 1 3id
g fafer werg | 2 3
URife® avel @1 NH,OH ¥ SAMAfhaT b1 dhefel FHIBRT | 1 3

Describe the quick Vinegar process of manufacture of acetic acid on the

headings given below.

Chemical equation of the reaction.

Laboratory method in brief.

Chemical equation for the reaction of acetic acid with NH,OH.
(sferam)

U Uodblalal AT @ fhvgs fafy o1 gvig fAeifed el &
AT HINTY |
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() MHfhar &1 RIS FHIBROT — 1 3P
(i) fafer &1 deg 7 o — 2 3i®
(iii) RISl Uehiglal &I Na o1q & AMTHAT BT FHIBIOT | 1 3fdH

Describe the fermentation method for the manufcture of ethyl alcohol

under the following headings.
(1) Chemical equation of the reaction.
(1) Brief description of the process.

(1) Chemical equation for the reaction of ethyl alcohol and Na Metal.

FEBE B foly HAAM BT FahA a1 BT 9F [T@aR Udhidh gd Dl
TS | (3+1)

Write the Coulomb's inverse square law of magnetism and explain unit

pole.
(crerdn)
Rig ®IFT —  y=Htano (2+2)
P=H"+V?
STl @ = SHUT PIvf
[ = gl &1 |yl <dear
H = Yed1 31 &fds acd
V= SR Ued ¥ |

Prove that :- V=Htan8 (2+2)



YR1—14

YRd—15

9R1—16

virendra

I’=H*+V?

Where 0 = Angle of declination.

I = Total intensity of earth's magnetic field

H =Horizontal component of earth's magnetic field

V' = Vertical component.
SR & fhsl IR BT BT qUF HIFT | (1+1-+1+1)
Describe any four functions of blood.

(sferam)

THT & fdhal IR BT BT 90 DI | (1+1-+1+1)

Describe any four functions of lymph.

gD [l ded 87 UIPidd Ud HINT dgcid & al—al IQTeRI Qi

T | (1+H1+1+141)
What are polymers? Explain giving two examples for each natural and
synthetic polymers.

(312ran)

PV.C. & IRT M IR G folgdr g8@a diF T foalay |

Write the full name and formula of P.V.C. and give three properties of it.
STRfTga Uq TR va9e H uiwr iR fIRay | (1+H1+14+141)
Give five differences between aerobic and anaerobic respiration.

(sferam)



B dT U4 3999 § g 3R forRav | (1+H1+H14+141)

Give five differences between breathing and respiration.

gei—17  TINT AT H AIde U DI BIbd G A bR Dbl Td U Ay @1
JANT T o9 =Tifdhd eivel & Sfaiid @ifory |

() frgia (i) THifea e (i) 3rderde AR | (14+2+2)

Describe the single pin method to find out the focal length of a concave

mirror on the following headings -
(1) Theory (i1) Labelled diagram (ii1) Observation table.

(srern)

JARTRIAT H BId @ AIATBR [Cd Pl ATacdh S HRT & GIRT Bl
quiq fifdhd el & 3T HIFTT | (1+2+2)

() Frgl@ (i) TMifed &= (iii) saard aRolt

Explain the determination of refractive index of a glass slab in the labora-

tory on the following prints -
(1) Principle (i1) Labelled diagram (iii) Observation table.

gei—18  fdgd 9RU # SUANT B arel (e dadl @ W falag | —
Write the names of the following symbols used in an electric circuit.

qJh W 1 3ih

virendra



(Vi) X

V) —"A\AANNANA— — ANANAANAN, —

(srern)

fagga aRRuer # SWANT BN arel fifa Sadal & M fofRey |

Write the names of the following symbols used in an electric circuit.

TS TR 1 3Ab
(1) ('} (i) ©)
(i) — @)= (iv [
(v) > v) —E\ H——
ge—19  HAMd H IO dF B Grad qoiE Hifvig (2+2+2)

Explain the excretory system of a man with a labelled diagram.
(sferam)

qa | 77 FEior 1 gfhar &1 |fem aoiE i |

Explain the process formation of urine with a labelled diagram.

virendra
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Attempt all the Question

U3 BHHlB 01 W 10 3 FEiRd 8 | <1 Suwus € | Wus "I H 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U HHIG 02 | U HHIP 06 TF AT TSI U 8 | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 06 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
U D 07 H TIH HHAID 10 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 07 to 10 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 11 F U HAIG 14 b dgSaid U § | TP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 11 to 14 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.

187
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e HHIG 15 | UL HHIG 17 TH HSaNg U1 © | IS U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 15 to 17 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 18 W UL HHIP 19 ddb QrdScaed Ued & | UJd g9 H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 18 to 19 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



9o 1 (@) HEl fAHeT BT gd B I 37U+ Ik IRADT H folRay —

Que 1

1.

(A)
(1)

& W BT B 9 & fory AR w1 TR fHar Siar 8-
(a) Pfder sawTgS (b) ST aTaITSS

(c) wifde MavTES (d) dsfrm

AIRITaRAT H BT @ Foll BT A BIAT 8-

(a) SAferepcH (b) =LaH

(c) A (d) SRIKT § | DIg el |

TUdh dcd Bl Soidclive [~ 2, 8, 3 & I8 ded gl —
(a) s—sTh TcT (b) p—scIih dd
(c) d— <TH T (d) f—=TT I

TP URTIR &1 #1981l 83—

1 HATH 1 JhUS
@ g ©) i
(c) 1 HAM X 1 AHS (d) SR § | DI T8l |

qq TdD! P G B D oIy YaH arg &l A AaqD 2 |
(a) 10 fH AL /Her (b) 15 T, /&er

(c) 20 fh.AL /&ar (d) 25 f&HA. /Her

Choose he correct option and answer -

The compund used for making green colour glass -



(a) Nickel oxide (b) Manganese oxide
(c) chromic oxide (d) cadmium.
(1) A euilibrium the energy of a system is -
(a) maximum (b) minimum
(c) zero (d) none of the above
(11) The electronic configuration of an element is 2, 8, 3. The element is -
(a) 5- block element (b) p-block element
(c) d-block element (d) f-block element

(iv) The value of one ampere is -

1 coulomb 1 second
1 second 1 coulomb
(¢) 1 coulomb x 1 second (d) none of the above

(v) The minimum speed of the wind required to run a wind mills is -
(a) 10 km/hr. (b) 15 km/hr.
(c) 20 km/hr. (d) 25 km/hr.

@) Raa il &1 gid s |

1. 10 39 & 5 Rl & Aofipa § AAd fhd U 2 | SHh1 gRom
BIRRIE] AT |

2. 7 Alg Bl gridhd BT T fageafchd Bl I Bl ot § ———————
2 |

virendra
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(B)

IIIT B FHY Holf I U BT B

bR fhar # CO, & Reriaxur 4 ST B |
arg gy & forg Siared el &1 ———— g = BRI T |
Fill in the blanks -

Five resistances of 10 ohm each are connected in series. The resultant

reSIStANCEe 1S vuuvevereveeeeneennnns

Magnetisation and demagnetisation of iron in comparison to steel is

During fasting energy is obtained from .....................

In dark reaction ................. is formed by the fixation of CO,

The main cause for the air pollution is the ................ of fossil fuel.
T DI IRATNT By 2 3ih
Define smelting.

oof oriaRe wradT @ @ o Rl | 2 3

Write the two essential conditions for total internal reflection.
JIUBIT DI IRATNT I 2 3fdh
Define Ingestion.

Udh ATcid &1 YRR 20 39 & | dTedd H Udh TR @ ORT yarfed
R W o favarR S 8F | A 1 3, AT 1 3b

A conductor has resistance of 20 ohms and one amphere current flows

191



through it. What will be potential difference across it.

g% 6. FAH TG DI WL DITTY 2 3
Explain respiration through gills.

T3 7. ST UG & oI HROT forfay (14+1+1)

Write three causes of Soil pollution.

g3 8. IS FHIBROT S — Jddh TN 1 3fh |

1. T C (®1eH) R ST &I ar yared &1 Il 2 |
2. I T AT W FARM I yaIed aRd 2 |

3. NaHCO, &I ¥ a1 < g |

Give chemical equations -
(1) Water vapour is passed over heated C (Carbon).
(i) CI, gas passed over slaked lime.
(i) NaHCO, is heated.
IeT 9. g Td pemg H Hifdw T B MR W A iR fafaw | (14+1+1)

Write three differences in physical properties of metal and non metals.

e 10. YIS IS BT IRANE GIF BN bl AMIDbd R I8 | 3 3d

Draw a labelled diagram of fixed dome type biogas plant.

JTI—11 JIMATHAT TR BT FHIAT B dTed AR BRDI DI G BT | (1+H1+1+1)

Give four factors that affect the rate of reaction.

virendra
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(i)
(iii)

(1)
(i)
(i)

(1)
(i)
(iii)

(aFere)
RS AR & aR Yq9 el iy | (1-+H1+141)

Give four main characteristics of chemcial equilibrium.

tRifed o fFaior &1 g RRer fafdr &1 f=ifea Nivel & 9o
HITTY |

AfAfhaT BT TS FHIBRT | 1 3k
g fafey wew # | 2 3P
gRifee 3t b1 NH,OH & 3ffAfshar &1 dhael AHISR | 1 3(ch

Describe the quick Vinegar process of manufacture of acetic acid on the

headings given below.

Chemical equation of the reaction.

Laboratory method in brief.

Chemical equation for the reaction of acetic acid with NH,OH.
(atere)

el Yolelad fAfor @) fhvas fafy &1 goiw feifea ofivei &
JFAT HIRTY |

JAMATHAT BT IAITD AHIHROT — 1 3PH
fafey &1 gy o gl — 2 3id
TSl Yeblalel &l Na o1 9 STWAHAT BT FHIDHRT | 13(®

Describe the fermentation method for the manufcture of ethyl alcohol
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under the following headings.
(1) Chemical equation of the reaction.
(1) Brief description of the process.

(1) Chemical equation for the reaction of ethyl alcohol and Na Metal.

UeI—13  gHdHd D [T Hald B Gohd 9 b FIH folgadx Udhld ga &l
NEEIER (34+1)

Write the Coulomb's inverse square law of magnetism and explain unit

pole.
(creran)
Rig &INT =~ p=Htano (2+2)
I’=H*+V?
S8l @ = TAUT PHIoT
[ = et & |l dgar

H = g1 &1 afds gcah

V= SR Ued ¥ |
Prove that :- V =Htan@ (2+2)
I’=H*+V?
Where 0 = Angle of declination.

I = Total intensity of earth's magnetic field

H =Horizontal component of earth's magnetic field

virendra
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9R1—15

YRd—16

YRd—17
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V' = Vertical component.
SR & fhsl IR BT BT qUF HIFT | (1+1-+1+1)
Describe any four functions of blood.
(steran)
TI®T & fdhal IR BT BT 9O DI | (1+1-+1+1)

Describe any four functions of lymph.

gD [ HEA 57 TIPiTd Td HINd IgaTd d al—al IIERT ax

TSR | (1+1-+1+1+1)
What are polymers? Explain giving two examples for each natural and
synthetic polymers.

(arerar)

PV.C. & IRT M IR GF folgdr g8a o= or faRay |
Write the full name and formula of P.V.C. and give three properties of it.
ffeRATead= Td TR 99+ # Uig afar forRau | (1+1+1+1+1)
Give five differences between aerobic and anaerobic respiration.

(aFere)
B dT U4 39T ¥ g 3R forRav | (1+H1+H14+141)

Give five differences between breathing and respiration.

UGIT TTAT H Jfadel U0 &I Bihd g A B bl §d 97 fafer o
JANT &7 o9 r=Tifdhd eivel & Sfaiid @ifory |
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(1)
(iii)

(V)

() frgra (i) Hifea e (i) derde AR | (14+2+2)

Describe the single pin method to find out the focal length of a concave

mirror on the following headings -
(1) Theory (i1) Labelled diagram (ii1) Observation table.

(sferam)

TIRTEITEAT | Dl & ATIATDHR b Pl ATAcid ST DR b TN Bl
quig freifea idel & g BIfY | (142+2)

() RIS (i) THIfeT Y@= (iii) sfaard ARl

Explain the determination of refractive index of a glass slab in the labora-

tory on the following prints -

(1) Principle (i1) Labelled diagram (iii) Observation table.

fre aRuer ¥ ST ER AT Preifed bl B A ey | —
Write the names of the following symbols used in an electric circuit.

JJh W 1 3ih

(sferam)

fagd 9Ruer & IWENT B drel ifha Haval & A forRed |

Write the names of the following symbols used in an electric circuit.
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JJh W 1 3P

(i) ('} (i) ©)
(i) — @)= (iv [
(v) > V) —E\ H——
g9I—19  HAMd H I9T dF B Gfaa qoiE Hifvig (2+2+2)

Explain the excretory system of a man with a labelled diagram.
(3reram)
qg # g Fir 31 afhar &1 |afem 9o ST |

Explain the process formation of urine with a labelled diagram.

virendra
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Scheme of Question Paper

fava— amfste fasmm

quries : 100

T @ 3 T
TN : 'S A (10)

(@) dPrs SEIT D SER A

(A) Weightage as per Educational objective:

0 3h0 SER 3i® gfrera
1. =M (Knowledge) 35 35%
2. rqqler (Understanding) 45 45%
3. IWANT U4 B9l (Application & Skill) 20 20%

T 100 100%

(4) SPRAR D BT A

HOHO | §PIE BT AW THE W | UF-UF @ USU AR
1, 994t |d1 | fagg 08 08
2 [CATE Dl IS 10 10
3. 1945 & TG &7 fawg 10 10
4. RA B APl O 08 08
5. I T TR IRHR BT TG0 10 10
6. ARG SRS ] 08 08
7. 3Mfdies FARATY qd FAIfCr 06 06
8. SUHIT Dl Ferd 05 05
9. NERICHIERIS 05 05
10. CLRCEINE] 05 05
11. UTpicieh AR I B 10 10
12. Gl g ISl AT 05 05
13. [EEINESE U] 05 05
14, AR Yo 9 3fdhA 05 05
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(@) Hfeg WR (Difficulty Level)

€0 0 SEGLL 3® gfrera
1. X1 (Easy) 35 35%

2. T (Average) 45 45%

3. Bfod (Difficult) 20 20%

T 100 100%

(@) yeua feum fAdwr ¢d fAweu diomm —

(Instruction's & Scheme of Option for Question Paper)

o IXITS U H (05) dgfddmedia wed Term (05) Raxd I @ Yfd /Ifad el
AT BT U2 &1 ST 8IR I8 Udd e | U HHAD 1 B8R |

@ UIH WS H 1, 2Td 3 3pl & yzal § f=ar @M | 9 04 3(h A7 39
31 3! & TSR qAT STESTRIT el H fdaweq faar Srem 2 | fdaed
T I Pl W AT FHM I3 & i | 04 3 IT I/ AP bl &

e UP AT H U A Tedl |
o JIfErdHTH ITR AT sifcrergsTda (2 3 /30 31e2) (3 3ih /50 TIR)
TSR (4 3w /75 W) (5 3ih /150 IR)
EEERAE (6 3 T AfdH /250 wIq)

faery frder— (1) Ued A% 01 H T 31 ¥ IgfAhedd Ue—05 3 & [Gd G |
(2) @< 9 # Raa = @1 gfid / 3IfId ST 991471 05 3 & fQy WY |



fava— amfsre fasmm

U — U &l U<

Blue Print of Question Paper

quIieh : 100

Y ;3 HT
oRIeT : BISEha (10d0)
$PTE $PTE 3PIE W HHAR UL B
.5 aefed 3w PR
1 3|2 3@ |3 3d |4 A®|5 AH|6 3IH| 6 AP
a1 3ad
3ifered
1 |[ddi 9 | fawg 08 1 1 - | - 1 - - 2+1
2 [Rrgare &1 ST 10 e N — | 1 - 2
1945 & 1§ BT
3 |eeg 10 1 1 1 1 - | = - 3+1
IRA BT FRBIdD
LR P 08 1 2 1 - | = | - - 3+1
Y g 9T AR
N 10 — | 1 1 — | 1 - - 3
6 |AMINT®G SIRTSHE] 08 2 1 - | 1 - | = - 2+2
el a9y Ud
7 i 06 2 | = | = | 1 — | - - 142
8 |SUHIGT b1 g9d 05 — 1 1 — | = | - — 2
9 |SHw fawpie 05 2 | =1 | = - |- - 1+2
10 |59 fawrer= 05 — | 1 1 - | - | - — 2
11 |ITpfded HfY 10 — | =] = | 1 — | 1 - 2
12 gﬁ\ﬂ v Sl 05 o - - 1
AT
13 |fHToT =T 05 1 - | - 1 - | - - 1-+1
14 |AHIRE DT 05 - =1 =1 - 11 — — 1
T 100 10 | 08 | 06 | 06 | 04 | 02 | — |26+10
26+01)
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TS o Wciithde T
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SAMPLE PAPER

AT 3 YUCT (Time- 3 Hrs)

FET i— (Class) - g9d1  (109) quii 100 (M.M.)

Instruction — fad9r

virendra

1.

AT U B HRAT AR 7

Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



A g
e 104, fAva— wrfivie s

ged 1— (37) wal faseu gfag—

virendra

(@

(i)

(iii)

(iv)

Choose correct alternatives :-

Sirehfe wify v ST B —
(a) W (b) SR

(c) dfestan @ s
Industrial revolution started first -

(a)  France (b)  Germany
(c) Belgium (d)  England
BT W Sool Ufoue 3ffafs Ay faar Tar—
(a) 2002 (b) 2006

(c) 2004 (d) 2008

Law aginst the dowry implimented in chhattisgarh -

(a) 2002 (b) 2006

(c) 2004 (d 2008
RIS Al & aredl I & —

(a) WA b) fafdma
(c) BINTE d S
The state that provide unemployment allowance -

(a) Kerala (b)  Sikkim
(c)  Chhattisgarh (d)  Orrisa
IRA & Y e T € —

(a) T R (b) T
(©) S @ s
India's main economic problem is -

(a)  Control price rise (b)  Rationing
(c)  Production (d)  Price rise

(1x5)



™)

(@

(i)

(iii)

(iv)

YR 2—

YR 3—

YR 4—

virendra

Fsfral & forg faare @ <gaa+ g § —

(a) 219 () 19N

(¢) 17 a9 (d 18y

The minimum age to marry for girls is -

(a) 21 years (b) 19 years

(c) 17 years (d) 18 years

Raa wm= @t gff #ifsg (1x5)
Fill in the blanks :-

HYad I G BT AT o IR | Rerad g |
In.oiii, city is the secretariat of United Nation Organisation.

D T H FAS oo qof H a9 o |

In vadic era, Society was divided in ............cccceue...e. classes.

deg BT U & oIy Aqfed wU W YIS § o Al @l a1 &l
.............................. BEd |

To achieve goal people try collectively is called............ccoeevrennennen.

SR gfg BI TRT 3ATED A 8T SR © Al S HEd © |

When the speed of population growth increases is called ............ccccceeeuenen.

IRIR & I ISR & gRT HABR TATT ST a1l ST Bl oo
PEd B |

The industry run by all members of family is called..............ccccuvenennnen.

1914 ¥ BF a1l g DI YA fdvd Jg I Hed & 7 @)
What did the war 1914 call the world war-1 ?
drer greR BT AT I B 7 )

What is mean by Veto power ?

THRY &1 HEThI hii—hid A B 2 (1+1)

Which are the main epics ?
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gE U4 Ieradel @ JREN Bq Y ST arel & Surg foag | (141)

Write two ideas for the security of old and disables.

s fre & <1 o fafag | (1+1)
Write two advantages of labour division.

SUHIGT gad &7 3Merd foIlRaw | )
What is consumer surplus ?

BINTTG & U 9d & 9 fafay | 318 IR | (v4x4)

Write the name of important festivals of Chhattisgarh.

TR § Ui g & fHaree f&g ugfy g1 foar smar g 2 )
Which procedure is adopted for the election of President in India ?

S <9 & 9 foRay [ fder greR g1 g 7 (12x6)
Write the name of countries which have Veto power.

AHHT Fe fHaifad 8F @ forg a9 sifard argang fafay | (1x3)

Write three essential aligibility to elect as the member of Loksabha.

s forer Y R faRay | ®)
Write the definition of Labour division.

AR H&pid o1 A faRivang faliay | (1x3)
Write three characteristics of Indian culture.

SHAE gig ¥ I dIF SRRl & foRay | (1x3)
Write three problems arose by the growth of population.

SUHTERT S @ 3fef Ud dglfded ded ol fordiy | (1+2)

Write the definition and theoratical importance of comsumer surplus.
fgdi fawa g # S W & 3T SR 9 ? Bl IR | (1x4)

What was the reason of deofeat of Germany in World war-1I ?

“3Ar’ OR
ol ool B Gl Bl Sooikg HIFY | (4)
Describe the incidence of Pear]l Herbal.
TRIET B RIS Td TRIdT & HRON Bl foRau | (143)
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Define poverty and write its three reasons.

“gAar’ OR
IRISHTRI BT 31f T SRIGHTRY | S <9 Saaameti &l filRaw | (143)
Write meaning of umemployment and three problems arose by it.
gRa wifd fed ®wed € ? 3RT @ifd & 09 gRomAl & aw=mgy | (143)
What is green revolution ? explain three result of it.

“gAar’ OR
Fhaa] A 3T T THASI & ? Ahaal 81 drel i ol b forRau ((143)

What do you mean by Chuckbandi ? Write its three advantages.

TR H 9 ST AR g T ST § IR 3R forRay |
Write difference between cotton industry and Iron and steel industry.
“JYAr’ OR
DY R ITRA I Ud WS R ARMRT SN B Pl IR fd=gail
H g BT | (1x4)

Compare the industry based on agriculture and mineral.

TRRN IR 31fheT #A_IE § IoMfde JAGFRY & R SR o 2

Y | (1x4)

Explain the reason of political renaissance of Asia and Africa continent.
“dYAr’ OR

faeq 2rifd &1 WRMUAT g FYaT T T & IqavT Dol b Fedd © ?

How the porpose of UND helps to establish the world peace ? (4)
ARG fAdRT § 9ed IR BRI B R BT | (1x4)
Explain four factors that protest social development.

“dYAr’ OR

I @ At 2 fby S arel IR SUR 6l WK BIY | (1x4)
Explain four ideas for the improvement of women.

S uRReIfAl &1 Sooikg HINTT 9 HROT TRIIT T 3thieT H
AHIIATE BT {dbTd gafl | (1x5)
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Describe the condition by which imperialism rose in Asia and Africa.

“gAar’ OR
3ArEfiTes pifh | FHINSTS Ud ATd Siad IR U+ dTel U1l BT Seelkd
DITY | (1x5)
Describe the effects of social and economical lives due to industrial revolution.
IAf & IfRTAT BT Sl DHIVTT | (1x5)
Describe the condition by which imperialism rose in Asia and Africa.

“3Er’ OR
TR UTfeTdT 31EUeT B HIT—hIF H BT B BId 8 ¢ T BINTY [(1x5)

Explain the work of the chairperson of municipal council.

IOl & A FATEH] BT S8R0 Afed THSSY | (1x5)
Explain with example the new resources of energy.
“YAr’ OR
IOl G R Uh o fafay | (1x5)
Write an essay on energy resource.
TRA & AT § 4 B 3ifed divg — (1x5)
INDIA_ o _ - URd
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a1 [ T {( -\'.u-\
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virendra

(i 9 'S, (ii) 82), Yd QuNcR,  (ifi) Ty AT
(iv) AR A (v)  HagsT yad
Show the following in the Map of India.

(i)  Bombay Hagh, (i1)) 82 'seastlongitude

(i11) Kaveririver (iv)  Sambhar Lake (v)  Satpudahill
“IAr’ OR

() SR, (i) e S 9, (i) foewr s

(iv) PR AL SeTH (V) DD G | (1x5)

(1) Bailadila (i1)  Bhakhara Nangal Dam (i11)  ChilfaLake

(iv)  Kanjiranga National Park  (v)  Line of Cancer

BT ! faerdrel & fokay | (1x6)
Write the cahrateristics of Fascism.

“JYAr’ OR
fadi fawa g€ & BRI & GAS=Y | (1x6)

Explain the reasons of World war-I1.

P ARA B ATH & U ARAIY 3ffaell DI R T A STl 57
BREIER (1+5)
Agriculture is the soul of India why it is treated as a base of Indian economy.
Explain.

“dgAr’ OR
9 DI M BT 3P & AT 1l & | fad==m iy | (1+5)

Forest is a precious wealth of a nation. Discuss.
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1.

AT U B HRAT AR 7

Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



“AA YT
e 1091, fva— wmfore fasm™

ge 1—(37) wal fadweu gy

virendra

(@)

(i)

(iii)

@iv)

™)

Choose correct alternatives :-

fordl 291 W 3T I BT IoHfdd REFT BEAar & —

(a) AT (b) HETHATR

() SRAI] (@ SulrEeER

The political control of a country by other country is called.
(@)  Nationalism (b)  Imperialism

(c)  Liberalism (d)

el fEar ifdfr @y gam —

(a) 26 IR 2006 (b) 26 3aCER 2001
(¢) 17 STHENI 2009 (d) 16 AR 2005
Home Violance Act implimented on -.

(@) 26 October 2006 (b) 26 October 2001
(c) 17 January 2009 (d) 16 September 2005
fhefl o= a1 RS FU | HI—AHT FEerr 8 —
(@ SEEN (b)  FTH W

() Y<ER (d) T

[llegallyt buy and sell of any thing is called-.

(a) Hoarding (b)  Black Marketing
(c)  Corruption (d)  Smuggling

Y 2001 H 9IRA H SHEI] g9 Ui O B AL o
(a) 925 Ffdd (b) 425 Ffdd

(c) 324 Hfdq (d) 933 fda

In 2001 the density of India's population in persons was-.
(a) 925 persons (b) 425 persons

(¢) 324 persons (d) 933 persons

e e gfae fafics § -

(1x5)



C)

(@)

(b)

(c)

()

(e)

YR 2—

YR 3—

YR 4—

YR 5—

YR 6—

virendra

(a) ¥R H (b) UoE H
(c) BRamom H (d) ToRE H
Anand Milk Union Limited is in -

(a)  Mabharastra (b)  Punjab

(c)  Haryana (d)  Gujrat

TE WIS 18Y (1x5)
Match the following :-

IR T — 2004

International court - 2004

MATSTell & oRgdh - AeRelvs

Gitanjali's writer - Neather land

B, Ted ufomy . —  Rfdws SR

C.G. Anti Dowry act - Rabindranath Tagore

i fAprT ard @ — 2000

Interfering factor in

ecomonic progress - 2000

ST it - fdren

Population policy - illiteracy

SUHIGIT g9 BT G IRy | ()
Write the formula of consumer surplus.

HoH GARATIAT ¥ 3T 9T FH8d © 2 )
What do you mean by Meji Restoration ?

ATeT | MY T FHSA © P @)
What do you mean by NATO ?

S IR IoTagl & 9 foIlRey Reie swindTe | I foar ? (4x4)
Write the name of main dynasties those ruled over Chhattisgarh

AT IR BT 32 gy | )
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Write the meaning of women empowerment.

o fawre & <1 o foRay | (1+1)
Write two advantages of labour division.
DTG H alerd dlbged &1 4/ iRy | (Pl IR) (Vax4)

Write the name of popular folk dances of Chhattisgarh any four.
o faerTe & 3T 1 A8 © ¢ S9&! MU ®F dxar g (14+1)
What do you mean by financial bill ? Who decides it ?

EfRUSTdT &I T HT = Ig<eT FT © 2 (1x3)
What is main aim of non-alignment policy ?

IRBR geoT o1 e foRkay | (3)
What is write ?

s favror= | 9 st faRae | (1x3)
Write three disadvantages of labour division ?

BRNTe & aTfie ReIfd &1 auiq BT | (3)

Describe the religious position of Chhattisgarh.

fRIET &7 3Ta SRR gig BT U U HRUT & | 99sgd | (3)
The main cause of groeth of population is the lack of education. Explain.
SUHIGT BT F2d DI JATY- H 37 dTell A9 BfoAS A &l AHsmsd | (1x3)
Explain three difficulties in measuring the consumer surplus.
fada fovg gg # ¥ W™ & ®’T SR I ? (@13 IR) (1x4)
What was the reason of deofeat of Germany in World war-1I ?

“dYAr’ OR
Tel §9cl ®I TSl BT Sl DINTY | @)
Describe the incidence of Pearl Herbal.
TR ® gRETST Ta TRE & BRI B foIlRgw | (143)
Define poverty and write its three reasons.

“dYAr’ OR
IRISHTRY BT 31f T RIS | S0 <9 Sqaameti &l filRaw | (143)
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Write meaning of umemployment and three problems arose by it.
gRa Pifd fhd ®wed € ? 3RT wifd & 09 gRomAl & aw=mgy | (143)
What is green revolution ? explain three result of it.
“gAar’ OR
Fhaa] A 3T T THASI & ? Ahaal 8 darel i ol b foRau ((143)

What do you mean by Chuckbandi ? Write its three advantages.

TR H 9 ST AR g T ST H IR 3R forRay |
Write difference between cotton industry and Iron and steel industry.
“JYAr’ OR
DY R ITRA I Ud WS R ARMRT SN B Pl IR fd=gail
H gor BT | (1x4)

Compare the industry based on agriculture and mineral.

TRRN iR 31fheT #_IEy § Iofde JAWFRY & @I SR o ?

ALY | (1x4)

Explain the reason of political renaissance of Asia and Africa continent.
“YAr’ OR

faeq 2rifd &1 RUAT g FYaT T T & IqavT Dol db Fedd © ?

How the porpose of UND helps to establish the world peace ? (4)
ARG fAdRT § 9ed IR BRI B R BT | (1x4)
Explain four factors that protest social development.

“gAr’ OR

IR & fdpr™T gq fbU S arel =R U Bl W DI | (1x4)
Explain four ideas for the improvement of women.
S URRCAT BT Scoid BIFTY S HROT TRET TT BidT
AHIIATE BT {dbTd gafl | (1x53)
Describe the condition by which imperialism rose in Asia and Africa.

“3Ar’ OR
AT Hifd | AHISTD Ua 3l Sitad UR e dlel JHTdl 6l Iooid
DITY | (1x5)
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YR 23—

YR 24—

YR 25—

Describe the effects of social and economical lives due to industrial revolution.
Iafd & AfRTAT BT Sl DHIVTT | (1x5)
Describe the condition by which imperialism rose in Asia and Africa.

“3Er’ OR
TR UTfeTdT 31ETeT B HIT—hIF H BT B BId 8 ¢ T BINTY [(1x5)

Explain the work of the chairperson of municipal council.

SOl @ T A BTSSR0 Afed FHSsY | (1x5)
Explain with example the new resources of energy.

“gAar’ OR
SOl FEEH R Uh o fIlRaw | (1x5)
Write an essay on energy resource.
TRA & AT § 4 3 3ifed difvg — (1x5)

2Fs

virendra
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YR 27—

virendra

(i 9 'S, (ii) 82), Yd QuNcR,  (ifi) Ty AT
(iv) AR A (v)  HagsT yad
Show the following in the Map of India.

(i)  Bombay Hagh, (i1)) 82 'seastlongitude

(i11) Kaveririver (iv)  Sambhar Lake (v)  Satpudahill
“IAr’ OR

() SR, (i) e S 9, (i) foewr s

(iv) PR AL SeTH (V) DD G | (1x5)

(1) Bailadila (i1)  Bhakhara Nangal Dam (i11)  ChilfaLake

(iv)  Kanjiranga National Park  (v)  Line of Cancer

BT ! faerdrel & fokay | (1x6)
Write the cahrateristics of Fascism.

“JYAr’ OR
fadi fawa g€ & BRI & GAS=Y | (1x6)

Explain the reasons of World war-I1.

P ARA B ATH & U ARAIY 3ffaell DI R T A STl 57
BREIER (1+5)
Agriculture is the soul of India why it is treated as a base of Indian economy.
Explain.

“dgAr’ OR
9 DI M BT 3P & AT 1l & | fad==m iy | (1+5)

Forest is a precious wealth of a nation. Discuss.
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virendra

1.

AT U B HRAT AR 7

Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



“AA YT
e 1091, fva— wmfore fasm™

g3 1—(31) Ee! fddhed gy —

virendra

(@)

(i)

(iii)

@iv)

choose the correct alternatives :-

v fdva gg aHTe g3l —

(a) 1917 (b) 1918

(¢) 1920 (d 1919

World war-I was ended in -

(a 1917 (b) 1918

(c) 1920 (c) 1919

A <R g

(a) 28 ST 1919 (b) 1 IR 1918
(¢) 28 SIFTERI 1920 (d) 25 BIE 1917
Treaty of Versailles -

(@) 28 June 1919 (b) 01 November 1918
(c) 28 January 1920 (d) 25 February 1917

d2¥%n N[OIY Yol bl CIICLPJ %\r -
(@) 50 9 100 A ISR (b) 40 ¥ 60 fad ISR
(¢ 80 W 120 RAIR  (d) TR IV W ISR

The meaning of Nehru Rozgar Yojna is -

(a)  Employment from 50 to 100 days
(b) 40 to 60 days employment
(c)  80to 120 days employment

(d)  Oneyear employment

1939 H T3S vd 919 & 41 gg &I /M1 Sl & —

(a) TRR B g (b) UUH IHH g
(€) IRH BT g d) fadrr oM g
The war between Britain and China in 1939 is known as -

(a) Buxerwar (b)  First Opium war
(c)  Plassey war (d)  Second Opium war

(1x5)
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(i)

(iii)

(iv)

™)

YR 2—

YR 3—

YR 4—

YR 5—
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I ITABR ARIH AT g3 —

(a) 2006 (b) 2001

(c) 2009 (d) 2005

Write for Information Act implimented on -

(a) 2006 (b) 2001

(c) 2009 (d) 2005

Rad Tl @ gid sty (1x5)
Fill in the blanks :-

ST SERT &1 AT I Jdd TRBR BT BT & S oo HEd & |
The industry which owend and manaaged by government is called........................
AT I HE B RRATIAT o g% |

Waited Nations Organisation is established in .................... year.

IR TfeT TR S BT GRIE © |

Panini sculpture A stadhyayi is famous for .........................

I W B T o arof § |
Humanisa......ccoooeueenennnne. animal by nature

IRA H ST G BT TRI BROT o g |

SUHIGT 9ad & Rigid &I dsHd wd foa faar | ()
Who gave scientific feature to the principle of consumer surplus ?
YRA | A dTell Y@ IR JRIUR STl &1 9M oy | (Vax4)

Write the name of important european eastes which came India.

T ERT BT MITIHAT FT TS 2)
Why did we need de-armament ?
T BTl & IR AfRIDBRI & M fIRay | (Vox4)

Write name of important writers of Gupta period.
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Ifed w1 # RFAl @1 <2 ol off ? e Iy | )

Explain the condotion of women in Vedic period.

o farem a1 <1 st faRay | (1+1)
Write two disadvantages of Labour division.
IR BTl | MY RIT FH & 2 )

What do you understand by question answer period ?

"IABAT H THdl ARG WBa B fRwar g 17 W s | )
'Unity in diversity is the characteristic of Indiain culture : Explain.

eI I ATUA 6 g | S AT Fad <2 & M fRay | (1+2)

When did 'SAARC' establish. Write the name of member countries.

TR BT Rl 96 Il HEd § 7 (3)
Why do Rajyasabha call permanent house ?

sTH fqWTSTT &1 - aref § 7 (3)
What is the meaning of Labour division ?

BTG & UTHIOT RHET BT goiF HIRTT | (3)
Describe the rural dresses of Chhattisgarh.

SHEET gig BT AT aTell BIg Ayl i fofRay | (1x3)
Write the idea to stop the growth of population.

SUHTERIT Bl T Dl AT R W DI | )

Explain the consumer surplus by table.
fgdi fawa g A S WRo & 3T SROT 9 ? Bl IR | (1x4)
What was the reason of deofeat of Germany in World war-1I ?

“dYAr’ OR
el 89cl ® TSl BT Sl DINTY | @)
Describe the incidence of Pearl Herbal.
TR ® gRETST Td TRET & BROI B foIlRgw | (143)
Define poverty and write its three reasons.

“3Ar’ OR
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YR 20—
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IRISHTRI BT 31f T sSRIOHTNY | S0 9 Sgaameti &l filRaw | (143)
Write meaning of umemployment and three problems arose by it.
gRa Pifd fhd ®wed € ? 3RT wifd & 09 gRomAl & aw=mgy | (143)
What is green revolution ? explain three result of it.

“gAar’ OR
Fhaa] A 3T T THASI & ? Ahaal 81 drel i ol b forRau ((143)

What do you mean by Chuckbandi ? Write its three advantages.

TR H 9 ST AR g T ST § IR 3R forRay |
Write difference between cotton industry and Iron and steel industry.
“JYAr’ OR
DY R ITRA I Ud WS R ARMRT SN B Pl IR fd=gail
H gor BT | (1x4)

Compare the industry based on agriculture and mineral.

TRRN IR 31fheT A_IE § IoHfde JAWFRY & R SR o 2

Y | (1x4)

Explain the reason of political renaissance of Asia and Africa continent.
“YAr’ OR

faeq 2rifcd &1 WUAT g FYaT ¢ T & IqaeT Dol b Fedd © ?

How the porpose of UND helps to establish the world peace ? (4)
ARG fAdRT § 9ed IR BRI B R BT | (1x4)
Explain four factors that protest social development.

“dYAr’ OR

I & At =g fby S drel IR SUR 6l WK BHIY | (1x4)
Explain four ideas for the improvement of women.

I URRAMCRT BT Ioet HIIY S HRUT YRET Tl 3hldl H
AHIIATE BT {dbTd gafl | (1x53)
Describe the condition by which imperialism rose in Asia and Africa.

“3Ar’ OR



NS Hifd | FEIfoTe Ta onfefes STad TR s+ dTel UHTal &1 Soold
DHINTY | (1x5)

Describe the effects of social and economical lives due to industrial revolution.

gq 23—  XIEUfd & IfdaAl BT Soold HIvTT | (1x5)
Describe the condition by which imperialism rose in Asia and Africa.
“3Er’ OR
TR GTfeldT 31U DI DHIT—DHIF H B B B & ? TE DT [(1x5)
Explain the work of the chairperson of municipal council.
U3 24— SOl B A4 GARF] BT SSTERV Afed FHSISY | (1x5)
Explain with example the new resources of energy.
“gAr’ OR
SOl I R Uh o9 fIlRaw | (1x5)
Write an essay on energy resource.
U 25—  Rd & AHA H 9 @1 sifdd difoie — (1x5)
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(i 9 'S, (ii) 82), Yd QuNcR,  (ifi) Ty AT
(iv) AR A (v)  HagsT yad
Show the following in the Map of India.

(i)  Bombay Hagh, (i1)) 82 'seastlongitude

(i11) Kaveririver (iv)  Sambhar Lake (v)  Satpudahill
“IAr’ OR

() SR, (i) e S 9, (i) foewr s

(iv) PR AL SeTH (V) DD G | (1x5)

(1) Bailadila (i1)  Bhakhara Nangal Dam (i11)  ChilfaLake

(iv)  Kanjiranga National Park  (v)  Line of Cancer

BRAYaTe @) faradrert &1 forRay | (1x6)
Write the cahrateristics of Fascism.

“dUAr’ OR
fgda fowa gg & SRl & F9mEy | (1x6)

Explain the reasons of World war-II.

P AR B ST ¥ FH VR 1fTaReyT ST MR Faf /AT Il 872
|HSSY | (1+5)
Agriculture is the soul of India why it is treated as a base of Indian economy.
Explain.

“YAar’ OR

I BT I BT 3T &9 AMT el & | fademr sy | (1+5)
Forest is a precious wealth of a nation. Discuss.



U — UF P Aol

Scheme of Question Paper

favg— gafavor quiieh : 75
T : 3 ©C
uRleT : B8 Whel (104)

(@) duPH SGRTT D IEAR A

(A) Weightage as per Educational objective:

|0 30 SqQ 3® gfrera
. =M (Knowledge) 22 30%
2, qarer (Understanding) 37 50%
3. AT T4 PNETel (Application & Skill) 16 20%

I 75 100%

() SPEIR P! DI AH

HOHO | §HIE BT AW PR W IAEfT 3P | U979 & WU IR
Jrefed i@
1. HeT AReTIT U YeerH 10 4+6 = 10
2, el T HERIRI 8 14245 = 08
AT BT ARV UG Teer]
3. Sifad fafqerdr &1 aero 7 1+2+4 = 07
4. UG & YHR, T 10 1424245 = 10
Ud yqd 0P
5, UGYY & YT T 10 14+3+6 = 10
i & S
6. JMUST Yde 5 1+4=5
7. TR TR - 1 5 1+143 = 5
8. TATaROT AHTY - 11 5 1+4=5
9. 31T YITAROT foHfoT 10 1+14+3+5 = 10
ERRIE
10. ST e 5 2+3=5
11.
12.

virendra




(@) Hfeg WR (Difficulty Level)

|0 30 SEGLL 3® gfrera
1. X1 (Easy) 15 20%
2. I (Average) 45 60%
3. Bfod (Difficult) 15 20%
T 75 100%

@) weaua feem fder @ fAeen domr —

(Instruction's & Scheme of Option for Question Paper)

o IXITS U H (05) dgfddmedia wed Term (05) Raxd I @ Yfd /Ifad el
Y BT U AT ST 3R I8 Y AS H U hHidh 1 BT |

o UIF AT H1, 2Td 3 3@ &yl H fA=ar & | TR 04 (F AT A
31 3! & TSR qAT STESTRIT el H fdaweq faar Srem 2 | fdaed
T I Pl W AT FHM I3 & i | 04 3 IT I/ AP bl &

e UP AT H U A Tedl |
o DA IR A SIRRIISANK| (2 3 /30 T3 (3 3ih /50 Ueq)
AYSTNIY (4 31 / 75 7<) (5 b / 150 I<A)

CICISESNE (6 3 AT 3ffedH /250 )



U — U &l U<

Blue Print of Question Paper

e — ggiaRor quiieh : 75
Y ;3 HT
oRIeT : BISEha (10d0)
ShIY ShIg THIE W JHAR U Bl U
A, AT b [1 ain|2 oi|3 Tp|4 STb|5 3p|6 3i<p| 6 I
gT
RSk
KIIBEY
1 I 10 s e e O e O 2
2 ™ 8 111 =1=-11-1- 2+1
3 e 7 11 =11]-=-1]-1=- 241
4 vt 10 12 —-1-11|-1- 3+1
5 e 10 1 =11 -=--=-|1] - 2-+1
6 vim 5 1= =111=-1=-1- 141
7 v 5 2l =11 l-=-1-=-1-1- 142
8 vII® 5 1= =11 |-|—-|-1 1+
9 th _ _ _ _
IX 10 2 1 1 242
10 x™ 5 — (11 =-1-|-1- 2
11 - - -l - -1 -1-1-1 - -
12 - - - - - - -] - -
+
AT 75 105 |4|4]3 ]2 13 1(10)
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fawa — (Subject) - gATGROT ¥9g 3 Hvel (Time- 3 Hrs)
Pl i— (Class) - G4l quiie 75 (M.M.)
(Instruction) — (fAcde)

1. T4 U & HRAT A B |

virendra

Attempt all the Question

U3 BHHlB 01 W 10 3 FEiRd 8 | <1 Suwus € | Wus "I H 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U HHIG 02 | U HHIP 06 TF AT TSI U 8 | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 06 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
U D 07 H TIH HHAID 10 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 07 to 10 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 11 F U HAIG 14 b dgSaid U § | TP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 11 to 14 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.

228
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e HHIG 15 | UL HHIG 17 TH HSaNg U1 © | IS U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 15 to 17 are long answer type question & it carries 05 marks

each. Each question has internal choice. Word limit is maximum 100.

U HHIG 18 3R 19 Td IS UeH | AP U H IR
fImed 2 iR Udd e W 06 3@ €T & | IR @ AfHaH e’
AT 150 U |

Q. No. 18 to 19 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



URq 1—

virendra

gus A / Section (A)

wdl faseu g

Choose the correct alternative

(i) Eaer AR &1 dfeaem FEEe U g § —
I R 9. Hoe gl |
4. garamafeaar | T T W PIE TR
The people of coastal area get Calcium Corbonate.
(a) Dryland (b)  Mangrove vegetatation
(c)  Coral Reef (d)  None of these

(i) IS WA ARTY el § Rerd & —
. R H g SR H
q. Herage d T feomagR |
Badal Khol sencturary is in district-
(a)  Raipur (b)  Jashpur
(c)  Mahasamund (c)  Bilaspur

(i) sTH I At T T © —
3. EIESoHA —3 g, ®Ed — 14
| EH — 235 T UogHIf|
Element that is not radioactive-
(a) Hydrogen-3 (b) Carbon- 14
(c)  Uranium - 235 (d)  Aluminium

(iv) UT B g FAT BT T T HIeAl & ol & —
3. Pbs & BRI 9. PbsO, & BRI
d. PbO & BRI T T 9 PR TR
Brown colour painted surface become black-
(@)  Dueto Pbs (b)  DuetoPbsO,
(c)  Dueto Pbo (d)  None of these



(v) 3Ociel &l GhR BT & — (1)
1, 49 2, W 3 T 4

Disasters are of ........... types

@ 1L & 2 (@© 3 (@ 4

¥us d / Section (B)
Raa wm= a1 gfd aHifsg

Fill in the blanks-

(i) B U BT o qd PR <Al T | (1)
.................... makes green plant die.

(i) 1T ot 3T So9 | a8 & 39T DI ST g | (1)
The life of an engine of a vehicle ............... with the biodiesel mixed fuel.

(i) I DR SEEGI (1)
.................. causes stone cancer.

(iv) fOu®! ere™d @ YO o J | (1)
.................... is the head of Chipko movement.

V) MR FI oo H URW gaTl | (1)

g3 2— IR ST Y= URATSAT BT 3Gaed T & 2 )
Wabht is the aim of National water management ?

g3 3— Jqud T ? )
What is a pollutant ?

3 4— BITE H drafSolel &l =0T fig o 9 fdhar ST xer & °? )
From which plant is biodiesel produced in Chhattisgarh ?

Ue 5— NG fhathardl ¥ agaved Ugd BT ', 39 $Ud @l gfe
BINTT | (2)

Clarify the statement "Social activities causes atmospheric pollution."

virendra
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DIABI H TRl Il H b yaref & MArae & BRI SOIRT @l AU
B T 7 @)
The mixture of which substance in mustard oil handicapped thousands of people
in Kolkata ?

TN UG Bl AT &R @ Bbls A U foTRay | (1+141)
Write three measures of controlling domestic pollution.

TS YATARY ] JES HdAT I AaeIH © 7 (3)
Why is pleasant imagination of clearely environment neccessary ?

HA—HREM D ged TINT A BIF dTell TITIRNT THAT3N & BT &
PIs 9 S foRau | (1+1+1)

Write any three measures for preventing the environmental problems caused

due to increase in industries.

fr=2r 9 9ISy uerat & A1 9 S99 Aoiide 89 arol gl & A
fefreg | (14+1+1)

Write the names of any 3 food products and substances mixed for adulteration.

AT HIT & 7 SHA Jal Bl o a4 © 7 )

What is crop ratation ? How is it beneficial for soil ?

“Udr OR”
DU DY I T A € 7 TN JaI Dl T AN © ? (2+2)
What do you understand by contour cultivation ? How is it beneficial for soil?
BRINTG ®I 891 Yoc Iod i giiyd fdhar ar ? (@)
Why is Chhattisgarh declared as harbal State ?

“dUdr OR”
BRI g gRT 8Iftd a9 S &1 8 ? @)

What is the forest policy declared by Chhattisgarh state ?

Th WM R 4 g9 & BRU Sd I JIfAd &3 & ARl & A
foeue Ud qufaRT R U= dTel IR BRI 6l foafRau | (4)

Write any four effects, of the displacement of the people of submerged area

during the dam construction on environment and life.



YR 14—

YR 15—

(1)

(1)

(D
T2 16—

URA 17—
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“3YAr OR”
AFagd TR & HROT AR DT JALRATYT g G T & IR BRI
P! fafay | )

Write any four causes of rehabilitation and re estabilishment due to human

induced activities.
BRT T8 g9Td BT AHIfbd 3IRE §187 | (242)
Draw a labelled ray diagram of green house effect.

“Udr OR”
T auf BT AHIfbd IR 98T | (242)
Draw a labelled ray diagram of acid rain fall.
= W dferd Sl foRay — (2V4+21%)
T IRl ) yarafAfeaar
Write short notes on :-
Mangrove Vegetation (2)  Coral Reefs.

“Udr OR”
= W dferg fewofr foRay — (2V4+21%)
3 A () dTeRS UIH Bl Hed
Write short notes on :-
Dry land (2)  Water shed management.
AYs! UG T & ? FH&l & AP wU A UGN HR dlel DRI Bl
U BIFTY | (1+4)

What is marine pollution ? Describe the various factors that pollute the sea
widely.

“Udr OR”
HT UGHUT T & ? Ja&T UGNl & AMARI BRI BT qUiF DISTQ | (1+4)
What is soil pollution ? Discribe the anthropogenic causes of soil pollution.
3T YATIRY B DIA—DI A ThaTdhalry & =nfzy ? dfera | quid
BINTT | (5)
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What are the healthy activities that one should do for healthy environment ?
Describe in brief.

“dUdr OR”
TITIRUT ST DHRIHH BIF—DI & ? IAD DI 9 BTG | (2+3)

What are the programmes of public awareness for environment ? Describe each

in brief.

T U B FAT—RIT TRBRT YT fbd ST v8 € ? YA bl Hfgrad qoi
PITT | Q)

What are the efforts made by the government for forest management ? Describe

each effort in brief.

“3qdT OR”
A F1 8 ? | & T AAaT T B & BRI Bl fIRaY | $HS 9419
P FI—IT SUT § 7 (1+2%+2Y%)

What is land ? write the reasons of land deterioration and pollution. What are
the means of its protection ?

STl IGUYT BT SIg—ST3ll IR &RIT YHTd gedl & ? STl UgyYl 30T &
Uy ferf@ | (2+4)
What are the effect of water pollution on living organisms ? Write the measures
of controlling water pollution.

“3gdr OR”

IR USHUT BT AT TR TR T JAIG Ul © ? ATefId arg UguoT &l
ity o= & S falRaw | (3+3)
What are effects of air pollution on human health ? Write the measures of

controlling vehicle pollution.
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SAMPLE PAPER
fawa — (Subject) - gATGROT ¥9g 3 Hvel (Time- 3 Hrs)
Pl i— (Class) - G4l quiie 75 (M.M.)
(Instruction) — (fAcde)

1. T4 U & HRAT A B |

virendra

Attempt all the Question

U3 BHHlB 01 W 10 3 FEiRd 8 | <1 Suwus € | Wus "I H 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U HHIG 02 | U HHIP 06 TF AT TSI U 8 | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 06 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
U D 07 H TIH HHAID 10 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 07 to 10 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 11 F U HAIG 14 b dgSaid U § | TP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 11 to 14 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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e HHIG 15 | UL HHIG 17 TH HSaNg U1 © | IS U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 15 to 17 are long answer type question & it carries 05 marks

each. Each question has internal choice. Word limit is maximum 100.

U HHIG 18 3R 19 Td IS UeH | AP U H IR
fImed 2 iR Udd e W 06 3@ €T & | IR @ AfHaH e’
AT 150 U |

Q. No. 18 to 19 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



URq 1—
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gus ‘A / Section (A)

wal faweu gﬁq:—
Choos the correct alternative :-
(i) 99 STt DT I H AL ' —
. W2001 ¥ g §q2002¥
| Eq2003 ¥ T E2004 ¥
New water policy was implemented -
(@)  From 2001 (b)  From 2002
(c)  From 2003 (d)  From 2004
(i) DTS H IR B T & —
3. 11 d. 13
. 15 <. 17
The numbers of sencturies is Chhattisgarh is
(@ 11, (b)) 13, (¢) 15 (@ 17
(i) TR SHoff Aot # Macdd & w9 § GINT 81T & —
. HO d. N,O
4. DO g T B TR
Used as coolant in atomic power
(@ HO () NO
(¢c) DO (d)  None of these
(iv) fauTURI | /T IO BT ® —
3. Bl g ClEWIsS
|q s g uform
Disease caused due to virus-
(a)  Cholera (b)  Typhoid
(c)  Diahorria (d)  Jaundise
(v) g geg g —
A M CANN I3
| g =shard



Earthen disaster is -
(a)  Earthquake (b)  Drought
(c)  Flood (d)  Cyclone
Yus 9 / Section (B)
Rea = @1 gfif e

Fill in the blanks-

(i) Bl BREME BT T&AT T o DI qGMAT <l & | (1)
Dirty water of the factories gives rise to ................
(i) oG DI o DI JUATHR AHAT BT | (1)
Population explosion has to be stopped adopting ..................
(i) BRI & YA H CO, BT ANE oo g | (1)
The contribution of CO, in green house effectis ..............
(iv) MR T BT IGAH oo P R A APaH HAT 2 | (1)
The purpose of operation Deer is to prevent ............. from hunting.
(v)  STol 9SuoT IMfSfEE H o IRV © | (1)
Water pollution orevention and control act consist of ............. articles.
3 2— ATeATdl BT Ydehl &l ST ST a1feq ? ()
Why should we contract permanent ponds ?
ge 3— o7 SfeaiiRil & forg &IF |1 g gy © ? ()
Which tree is worshipped by the Baiga tribes ?
U 4—  UITAROT UGN BT GRS | )

Define environmental pollution.
Ue 5— g 3TOD A @l At Yf R a1 uWIg STefdrl § 2 2)
How dose the waste produced by the extraction of iron ore effect the Soil ?
ged 6— Aol H I @ YART A {6 0T HI FHEAT Bl § 2 (2)
Which disease is caused by using colour in sweets ?

ged 7—  SIEe UgyYl &l MR w1 & $Ig 9 Sug faaw | (1414+1)

Write any three measures controlling of industrial pollution.
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URFORITA Sofl Al BT GReTUT R} Maedd § 7 (3)
Why is the conservation of traditional energy sources neccessary ?

I & F H WA URIISHT YRS DR g GRE0T ATIH 1980 HI a7
Agd © ? (14-1+1)
What is the importance of forest conservation act 1980 is starting a mining

work in forest area ?

G | femae & fory a9 gl & M faRag | (1+1+1)
Write the names of three substances mixed with Sugar.
BRT T8 g9Td BT AHIfbd 3IRE §187 | (242)
Draw a labelled ray diagram of green house effect.

“gqdr OR”
T auf BT A IR 98T | (242)

Draw a labelled ray diagram of acid rain fall.

AT T & 7 SHA Jal Bl o a4 © 7 (24+2)
What is crop ratation ? How is it beneficial for soil ?

“3YAr OR”
HUCR Y A 3T T FHSA & 2 SHA I DI RTAM § ° (2+2)

What do you understand by contour cultivation ? How is it beneficial for soil?

BRINTG ®I 891 Yoc Iod i giiyd fdhar ar ? (@)
Why is Chhattisgarh declared as harbal State ?

“3Ydr OR”
BRI g §RT 8Iftd a9 S ®1 8 ? (4)

What is the forest policy declared by Chhattisgarh state ?

Th WM R 4 g9 & BRUT Sd | JIfAd &85 & ARl & A
foeue Ud qufaRT R U= dTel IR BRI 6l foafRau | (4)

Write any four effects, of the displacement of the people of submerged area

during the dam construction on environment and life.

“3gdr OR”
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HAFagd TR & BRI AR BT JALRATYT g JAd T & IR BRI
P! fafay | )

Write any four causes of rehabilitation and re estabilishment due to human

induced activities.
3T YATIRY B DIA—DIA A ThATHATT - =nfey ? e H quid
PIAY | (5)

What are the healthy activities that one should do for healthy environment ?
Describe in brief.

“Udr OR”
GITIRUT ST BHRIHH BIF—DI & 2 IAD DI g BT | (2+3)

What are the programmes of public awareness for environment ? Describe each

in brief.
= W dferd Sraoft forRay — (2V4+21%)
BT Il (@) varar fafeaar

Write short notes on :-

Mangrove Vegetation (2)  Coral Reefs.
“Udr OR”
= W dferg fewofr foRay — (2V4+21%)
3 A () dTeRS UIH Bl Hed
Write short notes on :-
Dry land (2)  Water shed management.
HYs! UG T & 7 FH&l & AP ®U A UG HR dlel DRI Bl
U BIFTY | (1+4)

What is marine pollution ? Describe the various factors that pollute the sea
widely.

“Udr OR”
HaT YUYl T & ? Ha&T UGHUT & A BRI BT g HIfTY | (1+4)

What is soil pollution ? Discribe the anthropogenic causes of soil pollution.



YR 18—

YR 19—
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T U B FAT—RIT TRBRT YT fbd ST v8 € ? YAeh Pl Hfgray qoi
PITT | Q)

What are the efforts made by the government for forest management ? Describe

each effort in brief.

“3IdT OR”
A 1 8 ? | & T AAaT T B & BRI Bl fIRIY | 39S 9919
P RI—IT SUI § ? (1+2%+2Y%)

What is land ? write the reasons of land deterioration and pollution. What are
the means of its protection ?

STl IGUYT BT SIg—ST=3ll UR &RIT YHTd gedl & 2 STl UgyYl FIu3or &
Uy ferf@ | (2+4)
What are the effect of water pollution on living organisms ? Write the mea-
sures of controlling water pollution.

“3gdr OR”

arg UgyYT BT A TWReY W GG GHG ISl ©§ ¢ ATefieh arg Uguor bl
ity o= & S falRaw | (3+3)

What are effects of air pollution on human health ? Write the measures of con-

trolling vehicle pollution.
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SAMPLE PAPER
fawa — (Subject) - gATGROT ¥9g 3 Hvel (Time- 3 Hrs)
Pl i— (Class) - G4l quiie 75 (M.M.)
(Instruction) — (fAcde)

1. T4 U & HRAT A B |
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Attempt all the Question

U3 BHHlB 01 W 10 3 FEiRd 8 | <1 Suwus € | Wus "I H 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U HHIG 02 | U HHIP 06 TF AT TSI U 8 | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 06 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
U D 07 H TIH HHAID 10 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 07 to 10 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 11 F U HAIG 14 b dgSaid U § | TP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 11 to 14 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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e HHIG 15 | UL HHIG 17 TH HSaNg U1 © | IS U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 15 to 17 are long answer type question & it carries 05 marks

each. Each question has internal choice. Word limit is maximum 100.

U HHIG 18 3R 19 Td IS UeH | AP U H IR
fImed 2 iR Udd e W 06 3@ €T & | IR @ AfHaH e’
AT 150 U |

Q. No. 18 to 19 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.



URq 1—

virendra

gus ‘A / Section (A)
wal faweu gﬁq:—
Choos the correct alternative :-
(i) OdETA F uferar iR Sha SIsif &1 IRURTE & — (1)
J.  Hew geRdfrr CRNC A ()
4. yara fafeat T T W PIE TR
Write the winter season birds and other living organisms take shelter in -
(a)  Mangrave Vegetation (b) Dryland
(c)  Coral reefs (d)  None of the above
(i) 9RA H Og AUSS YRS B Bl AT & — (1)
3. 12 dq. 13
N 14 <. 15
The number of biosphere resenes in India is -
(a 12 (b) 13
(c) 14 (d 15
(i) fSuert uered & fagrss ¥ 1 U T2 g — (1)
A g — RO g p — foxo
q oy — fexo T g — fxo
Due to the breaking of a radio active material the following is not given out
(a) a rays (b) B rays
(c) y rays (d)  grays
(iv) %I Ud Dlex BT BT Y& Bl & — (1)
3. el UG & BRI g, 9y UguUl & BRI
| fSanfied Ugur & HRIT T SHH 9 BIS T |
The occurence of log and mist is due to
(a)  Water pollution (b)  Airpollution
(c)  Radioactive pollution (d)  None ofthe above
(v) dTgHvSd UdlY el § — (1)
S o AN



. el Q. dehdid

It is not an atmospharic disaster-

(a)  Earthquake (b)  Floods
(c)  Drought (d)  Cyclone

s d° / Section (B)

R we & qff @i

Fill in the blanks-

(1)

(ii)

(iii)

(iv)

v)

YR 2—

YR 3—

YR 4—

YR 5—

virendra

HA BREM H oo I I ARy | (1)
................. equipment mast be used in factories.

IR H IR P IRIER ST el © | (1)
Every year India has increase in population by a size of ..................

ERA I8 791 § N,O &I NG oo g | (1)
The contribution of N, O in the green house effectis ...................

fRraeT STaIe™ B YHIAT T oo s Hgs | (1)
Chipko movement was started in the year ....................

aiRRerfaat famr Rifdk &1 3889 . HT qATRYT GoIR H Afehy
FEINT O § | (1)

The aim of Eco-development camp is to make active participation of ..................

in environment improvement.

HYD BT HEe H o Ul &) JaIHAT &, THDI AFBRI FT &8I
T | @

Why should farmers have a knowladge of how much water is required for the

Crop ?
Ao U | BaiaTe | fhd garef &1 fAEfer femr smer 2 7 (2)
What is produced from Jatropha in Chhattisgarh ?

AT 3IRD IRGAT | el AeAdT YA IR T y41d Sladt & 2 (2)
What is the effect of the waste obtained during extraction of copper on soil ?
eaf gguoT 7 7 ? 2)

What is noise pollution ?



YR 6—

YR 7—

YR 8—

YR 9—

YR 10—

YR 11—

YR 12—
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e A H Yiaaied 7 B fAefae | {6 0 & S~ B & FHrar
T g 7 2)
Which disease can be caused due to the mixing of banned colours in edible Oil?
qr8feh UGNl Bl 3T R & DIs diF SU fokey | (1+1+1)
Write any three measures of controllong of vehicular pollution ?

BSSIE & 399 ® U H YINT I 9grdT o & folv o1 gy fy o
T 7 (3)
What effort are being made to enchance the use of hydrogen as fuel ?

FAheUd Sig gl & foly a=1 Sia (Reron) oS ae 1972 &1 &

e & 7 ()
What is the importance of wild life conservation act 1972 for the endangered
species ?
fh=g! O 7Tl & A Ud S fefrae fhd S arel ugreil & Am
ferfay | (3)
Write the names of any three spices and the name of substances mixed in it.
BRINTG ®I 891 Yoc od a0 giiyd fdhar ar ? (@)
Why is Chhattisgarh declared as harbal State ?

“Udr OR”
BRI g §RT 8Iftd a9 S &1 8 ? @)

What is the forest policy declared by Chhattisgarh state ?

Th WM R 4 999 & BRUT Sd ¥ JIAd &3 & ARl & A
foReue Ud qufaRT R U= dTel IR BRI 6l foafRau | (4)

Write any four effects, of the displacement of the people of submerged area

during the dam construction on environment and life.

“Udr OR”
HAFagd TR & HROT AR BT JHALRATYT g G T & IR BRI
PI faRag | )

Write any four causes of rehabilitation and re estabilishment due to human in-

duced activities.



YR 13—

YR 14—

YR 15—

YR 16—

URA 17—
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(1)

(1)

BRT T8 g9Td BT AHIfbd 3IRE §187 | (242)
Draw a labelled ray diagram of green house effect.

“dUdr OR”
AR 9T BT AMIfhd NG §18T | (24+2)

Draw a labelled ray diagram of acid rain fall.

AT HIT & 7 SHA Jal Bl o a4 © 7 )
What is crop ratation ? How is it beneficial for soil ?

“Udr OR”
DU DY I T A € 7 TN JaI Bl T AW § ? (2+2)
What do you understand by contour cultivation ? How is it beneficial for soil?
Al IGUU T & ? FH&T & ATUh WY A YN BRI dlel BRI Dl
U BIFTY | (1+4)

What is marine pollution ? Describe the various factors that pollute the sea

widely.

“Udr OR”
HT UGHUT T & ? Ja&T UGNl & AMARI BRI BT qUiF HISTQ | (1+4)
What is soil pollution ? Discribe the anthropogenic causes of soil pollution.
3T YATIRY B DIA—DI A ThaTdhalry & =nfzy ? dfera H quid
BT | (5)
What are the healthy activities that one should do for healthy environment ?
Describe in brief.

“dUdr OR”
TITIRUT ST DHRIHH BIF—DI & ? IAD DI g BT | (2+3)

What are the programmes of public awareness for environment ? Describe each

in brief.

= W dferd Sroft forRay — (2V4+21%)
T IRl ) ydrafAfeaar

Write short notes on :-

Mangrove Vegetation (2)  Coral Reefs.



(D
g 18—

YR 19—
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“3dr OR”

= W dfer fewof foRay — (2V4+21%)
SICE B @) TS YT BT HEA
Write short notes on :-
Dry land (2)  Water shed management.
I U B RI—FI1 ABRI TATH (b 1 R 8 ? YA bl Fiere goi=
DI | 6)
What are the efforts made by the government for forest management ? Describe
each effort in brief.

“gqdr OR”
A 1 8 ? 1 & T AAaT T B & BRI Bl fIRIY | $HS 94919
P RI—IT SUI § ? (1+2%+2Y%)

What is land ? write the reasons of land deterioration and pollution. What are
the means of its protection ?

STl IGUYT BT SIg—ST=3ll UR &RIT YHTd gedl & ? STl UguYl 30T &
Uy ferf@ | (2+4)
What are the effect of water pollution on living organisms ? Write the mea-

sures of controlling water pollution.

“dqar OR”
arg UgyYT BT A TWReY TR GG GHG ISl ©§ ¢ ATefieh arg Uguor bl
ity o= & S falRaw | (3+3)

What are effects of air pollution on human health ? Write the measures of con-

trolling vehicle pollution.



